Il gdtan worh
\l Nat|ona| Testmg Agency

Test Date : 11 3ul 2022 Test Slot : siot 1

Subject : Hindu Studies

Sl. No.1
QBID:1521001

The following table shows the percentage of students (Boys and Girls) who have successfully
completed their respective academic programmes, namely, B.A, B.Se., B.Com., BBA,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Boys Girls
B.A. B80% 60%
B.Se. 80% T0%
B.Com. 40% 60%
B.B.A. 90% 60%
B.C.A. T0% B0%
B.Tech. T0% B0%

Frafafian wi = el (s st o=fF) = offww ot 2, 69 o wies § dia, i
wgHl., dimm, S, Sdi s fE T wwEs FEEE w5 aeaaEs W 2=
AT & ST % AEE T U T2 1 H 5 7 F I A

e faenfial =1 FEET—an gfam

T GER7 ersfEar
iR 20% 60%
1, o, 80% 70%
Eifear] 40% 60%
Eifins 90% 60%
i 70% 80%
Bl 70% 60%

If the number of boys and girls successfully completing the B.A, programme are same, then
what is the ratio between the number of boys to the number of girls in B.A. programme?

(1) 4:3
(2) 5:3
(3) 4:9
(4) 3:4

Iz .U, FEET B TEEAEE T H A o5 31 A H T 5§ A .U wEwE § A
1 A S TSFRAT 1 T S S R

1) 4:3

(2) 5:3
(3) 4:9
(4) 3:4

1[Option ID=20201]
2[Option ID=20202]
3[Option ID=20203]
4[Option ID=20204]

Sl. No.2
QBID:1521002



The following table shows the percentage of students (Boys and Girls) who have successfully
completed their respective academic programmes, namely, B.A, B.Se., B.Com., BBA,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Boys Girls
B.A. B80% B60%
B.Sc. 80% T0%
B.Com. 40% 60%
B.B.A. 90% 60%
B.C.A T0% 80%
B.Tech. T0% B60%

Frafafian wite =1 e (s st asfF) = i ot 8, 0w e | 4, &
whHl., fiwm, A, fAn i fIF TEE AEEEE FEEE W AeaaEE W 2w
AT TSI U T 9 T 1 5 aF % I A

o faenfial =1 FEwH-an gfam

EiR 80% 60%
Bl 80% 70%
.= 40% 60%
Eifins 90% 60%
=i 4, 70% 80%
.2 70% 60%

In B.Com, programme, 44% of the total students passed. If total number of boys in B.Com. is
200, then what is the total number of girls in B.Com.?

(1) 50
(2) 52
(3) 66
(4) 60

i e W § el faEnidat § § 44% frendf sl gu) afg &we 5 wew f Fa qen 200 € G
wEd (el ) | $e wsleAl i wE woae

(1) 50
(2) 52
(3) 66
(4) 60

1[Option ID=20205]
2[Option ID=20206]
3[Option ID=20207]
4[Option ID=20208]
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The following table shows the percentage of students (Boys and Girls) who have successfully
completed their respective academic programmes, namely, B.A, B.Se., B.Com., BBA,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Boys Girls
B.A. B80% B60%
B.Se. 80% T0%
B.Com. 40% 60%
B.B.A. 90% 60%
B.C.A T0% 80%
B.Tech. T0% B60%

Frafafian wite =1 e (s st asfF) = i ot 8, 0w e | 4, &
whHl., fiwm, A, fAn i fIF TEE AEEEE FEEE W AeaaEE W 2w
AT TSI U T 9 T 1 5 aF % I A

o faenfial =1 FEwH-an gfam

T GES] ersfEar
EiRs 80% 60%
Bl 80% 70%
.= 40% 60%
Eifins 90% 60%
=i 4, 70% 80%
.2 70% 60%

If the total number of boys and girls in each programme is 150 and 120, respectively, then
what is the approximate overall pass percentage of the college?

(1) 64%
(2) 69%
3 712%
(4) 54%

af% g FEwE H weH AN SsEdl H1 B HEA FEE: 150 S 120 § 9 39 wiew § oo @6
el i = 27

(1) 64%

(2) 89%

(3) T72%

(4) 5i%
1[Option ID=20209]
2[Option ID=20210]

3[Option ID=20211]
4[Option ID=20212]
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The following table shows the percentage of students (Boys and Girls) who have successfully
completed their respective academic programmes, namely, B.A, B.Se., B.Com., BBA,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Boys Girls
B.A. B80% B60%
B.Sc. 80% T0%
B.Com. 40% 60%
B.B.A. 90% 60%
B.C.A T0% 80%
B.Tech. T0% B60%

Frafafian wite =1 e (s st asfF) = i ot 8, 0w e | 4, &
whHl., fiwm, A, fAn i fIF TEE AEEEE FEEE W AeaaEE W 2w
AT TSI U T 9 T 1 5 aF % I A

o faenfial =1 FEwH-an gfam

T GES] ersfEar
EiR 80% 60%
Bl 80% 70%
.= 40% 60%
Eifins 90% 60%
=i 4, 70% 80%
.2 70% 60%

If the ratio between the number of boys to the number of girls in B.C.A, programme is 4 : 1,
then what is the ratio between the number of boys who have successtully completed B.C.A. to
the number of girls who have successfully completed B.C.A.?

1y 9:4
(2) 9:5
(3) 6:7
4 7:2

T ot 7.7 FeiEe d wsal S w6 g 3 el i 5ea 1 A 40 1 ar T It s
Areft wrgfEl i Hen = g § #u, S S T Tgeh ST S a7

(1) 9:4
(2 9:5
3) 6:7
(a) 7:2

1[Option ID=20213]
2[Option ID=20214]
3[Option ID=20215]
4[Option ID=20216]
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The following table shows the percentage of students (Boys and Girls) who have successfully
completed their respective academic programmes, namely, B.A, B.Se., B.Com., BBA,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Boys Girls
B.A. B80% B60%
B.Sc. 80% T0%
B.Com. 40% 60%
B.B.A. 90% 60%
B.C.A T0% 80%
B.Tech. T0% B60%

Frafafian wite =1 e (s st asfF) = i ot 8, 0w e | 4, &
whHl., fiwm, A, fAn i fIF TEE AEEEE FEEE W AeaaEE W 2w
AT TSI U T 9 T 1 5 aF % I A

o faenfial =1 FEwH-an gfam

T GES] ersfEar
EiR 80% 60%
Bl 80% 70%
.= 40% 60%
Eifins 90% 60%
=i 4, 70% 80%
.2 70% 60%

If the total number of girls in each academic programme is 90, then what is the total number
of girls who have successfully completed the academic programmes from the college?

1) 321
(2) 331
(3) 351
(4) 245

afE yeF e FEEN § AR i FE Fe 90 B W 3 wshEal # Fu wen w2 2, e W
FieiS F TEEEF FEHA L T

(1) 321
(2) 331
(3) 351
(4 245

1[Option ID=20217]
2[Option ID=20218]
3[Option ID=20219]
4[Option ID=20220]

Sl. No.6
QBID:1521006

In Swayamprabha, Video lectures are provided by

(1) DTH Channels

(2) Website www.swayam.gov.in
(3) Website www.inflibnet.ac.in
(4) Doordarshan Channels

w=aTET (SWAYAMPRABHA) # fafsar saream ek gm0 S9esy &0 9 87
(1) DTH =+eq

(2) éﬁ'ﬂT&E WWW.SWAVANL ZoV.in

(3) ==ETEE www.inflibnet.ac.in

(4)



A S

1[Option ID=20221]
2[Option ID=20222]
3[Option ID=20223]
4[Option ID=20224]

Sl. No.7
QBID:1521007

What are the main qualities for a teacher to provide ecounseling to his/her student having
some mental health issue?

A) Credibility and genuineness

B
) Confidentiality
D) Lack of empathy

Being Judgemental

Choose the most appropriate answer from the options given below :

(1)  (A)and (C) only
(2) (A)and (D) only
(3) (B) and (D) only
4) (A), (By and (C) only
s O ol o o e O 1 2 e B B R O i B e B e e
ifu
(A Tavammar s s
(B)  Eiwd Folaws g
(C) i
(D) agEy i
F= g o faskedi § & G99 399 I B TA HiT
(1)  FEE (A) 3 (C)

(2) e (A) 3T (D)
(3) Fad (B) st (D)

(a) T (A). (B) S (C)

1[Option ID=20225]
2[Option ID=20226]
3[Option ID=20227]
4[Option ID=20228]

Sl. No.8
QBID:1521008

Which of the following is not a MOOC platform?

(1) SWAYAM

(2 EDX

(3) COURSERA

(4) ePG Pathshala on Inflibnet portal
frefafas % FF-m1 7% MOOC =ewn 7 27

(1) SWAYAM

(2 Epx
(3) COURSERA

(4) IEHfcade dEd T ePG TEIEn

1[Option ID=20229]
2[Option ID=20230]
3[Option ID=20231]
4[Option ID=20232]

Sl. No.9
QBID:1521009

Which of the following is NOT a trait of a good teacher?

(1)




Full command over the subject

(2) Treating the intellectual ability of all students identically

(3) A lotof preparation and thinking in the subject before taking class

(4)  Effective communication and presentation skills
Frafafa & = 0 o= fas & o 74 27

(1) e % s &g e

(2) ot Fermanfieni i sifgsh awen =51 To@ GEg

(3) e o & o g i seafes dad o

(4) Tt T ST e i

1[Option ID=20233]
2[Option ID=20234]
3[Option ID=20235]
4[Option ID=20236]

Sl. No.10
QBID:1521010

Which of the following is the major ohjective of education?

(1) Developing economy

(2) Making students disciplined
(3) Developing inherent abilities/ powers of students
(4) Making students followers of teachers
ol § =ia foan =1 o9 vq@ 35579 27
(1) e W T e
(2) faenfdai =1 sigeniaa =m0
(3) Ferenfifai 1 svffEa e/ wfF =1 fawfaa Fon
(4) faenfdai =1 fvai &1 sgmeft ==

1[Option ID=20237]
2[Option ID=20238]
3[Option ID=20239]
4[Option ID=20240]

Sl. No.11
QBID:1521011

When original participants in a longitudinal study drop out midway, it is called
(1) Experimental distancing
(2)  Respondent deviation
(3) Mortality

(4) Sample redundancy

v Tt 319 39 srerEe W e wEATi wer § Biew 99 9N £, 6 39 FE o 2

) e
(2)  wfaEE e

(3) w=aT

4) Hﬁﬁé'ﬁ'ﬂ'ﬁlﬁ

1[Option ID=20241]
2[Option ID=20242]
3[Option ID=20243]
4[Option ID=20244]

Sl. No.12
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Match List I with List IT

List 1 List IT
Types of Research Research Purpose

(A)  Applied research (I)  Exploration and deseription of
concepts

(B) Basic research (II) To focus on objective assessment

(C) Quantitative research (IIT) Contribution to knowledge

(D) Qualitative research (IV) To find practical solutions to everyday
issues

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(ID), (C)-(IV), (D)-(11T)
(2) {(A)-(IV), (B)-(I1I), (C)-(IT). (D)-(T)
(3) (A)-(I), (B)-(IV), (C)-(1), (D)-(11)
(4) (A)(ID), (B)-(D), (C)-(IID), (D)-(IV)

-1 % =y g1 = fem i
1 T
i = FET Y I
(A) ST T (I) wFeTn F1 =90 d1 39F
(B) st Wiy (I) =EqHB Ao T A Higa Fe
(C) wTHTeRE g (1) 7 & A=A
(D) 7T WY (IV) 24fe7 HEdl % oo=eifith @oaEl o0 oAl
T
= few T el W & |E I 1 =9 i

(2) (A)-(IV). (B)-(I1D), (©)-(ID), (D)-(I)
(3) (M-I, (B)-(IV), (C)-(D). (D)-(ID)
(4) Q-(ID), (B)-M), (O)-(I1D), (D)-AV)
1[Option ID=20245]
2[Option ID=20246]

3[Option ID=20247]
4[Option ID=20248]

Sl. No.13
QBID:1521013

For the selection of samples in research, the snowball sampling method employs
(1) Field workers
(2)  Opinion leaders
(3) Surveyors
(4) Referrals

i # wftes = % fow, SEta v agf Fetafa w0 wm w2

(1) &= e
(2) w9Ha &

(3) wdEw

(4) HaFES

1[Option ID=20249]
2[Option ID=20250]
3[Option ID=20251]
4[Option ID=20252]

Sl. No.14

QBID:1521014
Under the Quality Mandate of UGC, the acronym ‘CARE’ stands for
(1) Commission for Academic and Research Ethies
(2) Cantre for Academic Research and Ethics

(3) Consortium for Academic and Research Ethics

(4) Computer-Aided Research and Education




I 51 = % e sifadm % i a3 Fe (CARE) % fomgm =9 #:
(1) i wi RS s fe o

(2) Fz i wrehm fed ws ol

(3) wHTEan B Thefam uve figd ofirm

(@) TR - s e T o

1[Option ID=20253]
2[Option ID=20254]
3[Option ID=20255]
4[Option ID=20256]

Sl. No.15
QBID:1521015

Given below are two statements :

Statement I :  In the inductive approach, a theory is generated out of research findings.

Statement I : In the deductive approach, research is done in relation to the hypothesis

drawn from the theory in question.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement [ and Statement I1 are false
(3) Statement I is true but Statement I is false

(4) Statement [ is false but Statement I is true

= 21 o g TR

T (1) AVTHAEHF 39T H, i fagE my & R | 30 g 2l

e (1) : T 39w 8, we, wea & e fagm @ = 78 ofter & day 3 fFn wm 2
TR FH F A A, = 7 e e § # 5 3w = Fifw

(1) FHA AN 59 8 |

(2)  F 1 @ [13H o5 & |

(3) F9A [&e &, wifed %99 11 sEe B

(4) T 13 R, wA FA 18 2|

1[Option ID=20257]
2[Option ID=20258]
3[Option ID=20259]
4[Option ID=20260]

Sl. No.16
QBID:1521016

One of the characteristics of oral communication system is that it is
(1) Mediated
(2) Point-to-point

(3)  Impersonal

(4) Noise laden

Hifta e 1 v e 9w § o
(1) =mfen (dfifews) e g

(2) fag-mr-fag dmn &

(3)  wdafes 3

(4) I g7 2

1[Option ID=20261]
2[Option ID=20262]
3[Option ID=20263]
4[Option ID=20264]

Sl. No.17



QBID:1521017

Which of the following elements are needed for the completion of classroom communication?

(A) Source

(B) Noise

(C) Content
(I Receiver
(E) Feed back

Choose the correct answer from the options given below :
(1) (A). (B) and (C) only
(2) (B). (C} and (D) only
(3) (A), (C). (D) and (E) only
() (B (C). (D) and (E) only

Fa1 | Fe & fou frefefaa § @ w98 99 sEs E
(A) =@

(D) PERE T
(E) Eﬁgﬁ(ﬁ@ﬂﬁ)
Hr= feu e fredi ® | @E I = 9ae i

(1)  FFE (A), (B) 3R (O)

(2) == (B) () 3 (D)

(3) F@ (A), (0), (D) 3 (E)

(4) FF (B). (C), (D) 37 (B)

1[Option ID=20265]
2[Option ID=20266]
3[Option ID=20267]
4[Option ID=20268]

Sl. No.18
QBID:1521018

Given below are two statements :

Statement I:  More communication means better communication.

Statement IT: Closely related persons do not have communication needs.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement IT is false

(4) Statement I is false but Statement 11 is true

F9 8wy Er o E

woE (1) :  foe wwr 1 o FEa aumm 2 |

we (1) :  Fkean | Heag =aiwe ohi T SEyaHar T8 2l § |

I T % e 4, e fEe T e 6§ w0 I 59 e

) we [ i [EAT & & |

(2) F 1 3t [ M1 3/ % |



(3) F 1T &, Tl wod 11 s/ 2|
(4) Fu7 [ ¥He &, s Foa (185 2

1[Option ID=20269]
2[Option ID=20270]
3[Option ID=20271]
4[Option ID=20272]

Sl. No.19
QBID:1521019

The sequential order of mass communication elements is
(A)  Source and encoder
(B) Message
(C) Medium
(I Decoder
(E) Feed back
Choose the correct answer from the options given below :
(1) (A), (B). (C), (D), (E)
(2)  (A) (D). (C). (B). (E)
(3) (&), (C). (B). (E), (D)
(4) (A). (O). (B, (D). (E)

ST o Al s @El FE 8

(A)  w@ R FeaEE

(B)y #=m

(C) ==

D) fogewgw

(B) sffe (fred)

= fim o famedi # 8 TE I F 9 i

@) @.®).©). D). ®E

(2) (A), (D). (C), (B). (E)

(3) (A), (C), (B), (E), (D)

(4) A (C), (B). (D). (E)

1[Option ID=20273]
2[Option ID=20274]
3[Option ID=20275]
4[Option ID=20276]

Sl. No.20
QBID:1521020

Match List I with List IT :

List I List II
Sign Category Example
(A) Iconic (I) Language
(B) Indexical (IT) Photographs
(C) Symbolic (III) Smoke
(D) Profusion of signs (IV) Letters of alphabets

Choose the correct answer from the options given below:



(1) (A-(ID, (B)-(I), (C)-(IV), (D)-(T)
(2) (A)-(ITD), (B)-(IV), (C)-(L), (D)-(1D)
(3) (A)-(ID), (B)-(IV), (C)-(I1T), (D)~(I)

@) A0, (BHID), (C)-(IV), (D)-(I1L)

Tt 1% g = 11 = faer Hifsm )
T 1 I
o T

(A) ST (1) =

(B) H=FERE (D) HrEmE

(C) e (IIT) i

(D) Togi = anfusa (IV) =viHTEn * 3

T o el § | @6 3 1 =999 S

(1) (A)-(ID). (B)-(IID), (C)-(IV). (D)-(D)
(2) (A)-(D), (B)-(IV), (©)-(1), (D)-(11)
(3) (A)(ID), (B)-(IV), (C)-(D), (D)-(T)

(4) (A)-(D. (B)-(ID). (C)-(IV), (D)-(I1T)

1[Option ID=20277]
2[Option ID=20278]
3[Option ID=20279]
4[Option ID=20280]

Sl. No.21
QBID:1521021

Find the missing term in the series below:

2:6,9,19. 87, % o

(1) 74
(2) 75
3B) 71
4 72

fr= i T2 e | 90 A% T
2.5.9.19.37. 7. .......

1) 74

1[Option ID=20281]
2[Option ID=20282]
3[Option ID=20283]
4[Option ID=20284]

Sl. No.22
QBID:1521022

The average of 5 consecutive numbers A, B, C, D and E is 48, What is the product of
A and E?

(1) 2000
(2) 2300
(3) 2200
(4) 2100

5 wmER wEmE A, B, C, D it E 1 sfta 48 B1 A 3it E %1 qoeEe w0 87
(1) 2000

(2) 2300
(3) 2200




(4) 2100

1[Option ID=20285]
2[Option ID=20286]
3[Option ID=20287]
4[Option ID=20288]

Sl. No.23
QBID:1521023

Arrange the following words according to English dictionary arrangement:
A) Epitaxy

(

(B) Episode
(C) Epigene
(D) Epitome
(E) Epilogue

Choose the correct answer from the options given below :

(1) (C), (E). (B), (A). (D)
(2) (C). (E), (A). (B). (D)
(3) (0, (A), (E), (B). (D)
(4) (0. (E), (B). (D). (A)

Frefafas w2 =i 3Tl ez 6 F TEn @

(A) Epitaxy
(B) Episode
(®] Epigene
(D Epitome
(E) Epilogue

= Tau o el ® B wE S R A i
(1) (C). (E), (B). (A). (D)

() (), (B). ). (B). (D)
@3) (€ (A), (E), (B), (D)

@ (©-(B).B).D).®

1[Option ID=20289]
2[Option ID=20290]
3[Option ID=20291]
4[Option ID=20292]

Sl. No.24
QBID:1521024

A person traverses a certain distanece in one hour, 24 minutes by covering two third of the
distance at 4 km per hour and the rest at 5 km per hour. Find the distance covered by the

person.

(1) 6km
(2) 8km
(B) 65km
(4) Tkm

s a2 e g 4 fR ufh e 1 fe @ of o 5 Rl ol ga @ fa B o e 24 R A
s T &l w9 o § | 39 = g g 6 s gl wan )

1) &R
(2) g
(3) 6.5
(4) 7R

1[Option ID=20293]
2[Option ID=20294]
3[Option ID=20295]
4[Option ID=20296]

Sl. No.25

QBID:1521025
A producer allows a commission of 36% on the retail price of his product and earns a profit of
8.8%, What would be the profit of the producer (in percentage), if the commission is reduced

by 24%?
(1) 49
(2) 45

(3) 4986



(4) 456
T IUEE A % T ge FMa T 36% 1 FHEE g 7 S 8.8% w0 oy AT o 21 Al
FHITA 24% F0 F o7 I A1 IeqeE = oy (vfoww °) Feewm gy

(1) 49

(2) 45
(3) 49.6

(4) 456

1[Option ID=20297]
2[Option ID=20298]
3[Option ID=20299]
4[Option ID=20300]

Sl. No.26
QBID:1521026

In classical square of opposition if ‘Some S is not P’ is given as false then which of the
following could be immediately inferred from it?

(A) ‘Some S 1s P is true

(B) ‘Some S is P’ is undetermined

(C) ‘Some S is P’ is false

(D) ‘All S 18 P’ is undetermined

(E) ‘All 8 is P is true

Choose the correct answer from the options given below :
(1) (B), (C). (E) only
(2) (A). (C). (E) only
3) (B). (C). (D) only
(a) (A (C). (D)only
foriter % =i ® Af, a2 ‘F9 S, PAG & oW & w9 § fEm w7 aw Fefaian § 9 w0 Swe 569) g
Toepren o1 WA 27
() ‘geS.pPiEdi
B) ‘%@ S, P# wfuiim g
C) ‘wEd S P E wem R
) ‘=i 8, PE sifHwifE 2
)y =it 8. PE @@ E
i feu U foepedi | | HE I = 99 it
(1)  F=E (B), (0). (B)
(2) F= (A), (0), (B)

EESE

(3) %= (B). (0), (D)

(4) FAE (A), (0), (D)

1[Option ID=20301]
2[Option ID=20302]
3[Option ID=20303]
4[Option ID=20304]

Sl. No.27
QBID:1521027

Fallacy in which a proposition is held to be true just because it has not been proved false, or
false just because it has not been proved true is called:

(1) Fallacy of Composition

(2) Irrelevant Conclusion

(3) Argument from Ignorance

(4) Hasty Generalization
i T Foreft ook = <61 et 59w & T W e § T g6 e wifew @ R w2, sweEn
e Hael 38 H0 H o 30 e wifaa 9F R T # w0 #E A

(1) =T & T

(2) wEE frewd

(3) ST | T
(4)  sfa=ria gm=wT

1[Option ID=20305]
2[Option ID=20306]
3[Option ID=20307]
4[Option ID=20308]

Sl. No.28




QBID:1521028
Given below are two statements :

Statement I: The statement — “A person without a purpose is like a car with no engine.
And that's a useless piece of machinery” is an example of analogical
argument.

Statement I1: The statement — “A person with no purpose is like a car with no engine. And
that's a useless piece of machinery” is an example of non argumentative use
of analogy.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement Il are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement [ is false but Statement II is true

F= F we Ry E
F (1) : 78 9 - o sEEvE % s s faen 99 % wn S B oefn gw sl wefieg BT
HIGTAHETS T 1 U I E |

wo (I1) - =g %o - ‘Fregya st famn $9m % =0 99 & o 9 st wefiad &' amza = fan o
& I N Th I E |

I wEH F o °, 99 B e 8 9 w8 3w o =mm i

1) FHAIAROEA T3 E |

(2) =9 1 [ 5A 3@ £ |

(3) T 1= 2, wifeA o 11 398ed 2 |

@ 97 | 376 &, @A Fe L EF 7|
a4

1[Option ID=20309]
2[Option ID=20310]
3[Option ID=20311]
4[Option ID=20312]

Sl. No.29
QBID:1521029

Given below are two statements :

Statement [ :  Classical Indian Logicians (Naiyayikas) recommend the use of the negative
modal or counter-factual conditional (tarka) to fortify or confirm the major

premise.
Statement II : Naivayikas accept tarka as a valid independent source of knowledge.
In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement Il are false

(3) Statement I is true but Statement II is false

(4) Statement is false but Statement Il is true

A= & o g E

wY (I) ;T SEATT A e AEN-aT k1 98 e H5ga] 6 O # ok SEY TR
Hise AuE1 Wi -A2ATeEF (Foh) = ITA FH F AFAA HA 8

e (I0) : =ikt & 1 T9 % (U5 39) S0 99 61 & &9 § Sen 5461 £
IR FYA F @ H, A G T fawed # 4 wd 3w 9w fifa

(1) FA ISR IOEA a9 § |

(2) oM 3R 1R @ & |

(3) A 1 5eA &, ot = 1] S & |

(4) 97 | =375 &, oo 59 [[aeg 2 1

1[Option ID=20313]
2[Option ID=20314]
3[Option ID=20315]
4[Option ID=20316]
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Any object if thrown upwards starts to come downward after reaching a particular height.
Therefore there must be some force that must be pulling that object towards the Earth's
surface, This argument is based on which of the following means of knowledge?

(1) Postulation (Arthapatti)
(2) Comparison (Upamana)
(3) Verbal Testimony (Sahda}
(4) Perception (Pratyaksa)
%13 o 9w A% W W F AW T AW R, UF TR 9 o 95 F A A e e e g,

= Fo A9 FFT9 &0 A 39 T F1 9zAl H w6E 1 AT @iE w60 | A8 o T % retera ame
T T 27

(1) sty
(2) A

(3) = WA

(4) &

1[Option ID=20317]
2[Option ID=20318]
3[Option ID=20319]
4[Option ID=20320]
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With respect to different number system bases, each number in the sequence 10000, 121,
100, 31, 24, P, 20 represents the same decimal number x. The missing number P in this

sequence is:

1 22
(2) 21
(3) 23
(4) 16

Fo=r g ugfa smuml @ g2 | @ ®9 10000, 121, 100, 31, 24, P, 20 H wes SE g9F gemed
e x = i B W H g S P T Wi | a7

(1) a3
(2) 21
(3) 23
@) 16

1[Option ID=20321]
2[Option ID=20322]
3[Option ID=20323]
4[Option ID=20324]
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Given below are two statements @

Statement I:  Most PCs use Dynamic RAMs for CPU Cache.
Statement I : Static RAM is faster and more expensive than Dynamic RAM.

In the light of the above statements, choose the correct answer from the options given helow:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement [1 are false
(3) Statement I is true but Statement 11 is false

(4) Statement [ is false but Statement II is true




H= & o fag R

e (1) sifersrae o =, =t Ot g S % forg nia (smafae) 9 0 S5 e § |
A (1) : e (wfem) T el @ of nfow (seafes) 1 @ wis =i )

I WA % T °, 419 Bu o e 8 ¥ 98 3 &1 999 i
(1) FeA AR I T3 2 |
(2) FF &R oA 5893 7 |
(3) T [ ¥ 2, wiiaA oA 11 379 2 |
(4) T 1378 2, o #2d [ 54 2 |

1[Option ID=20325]
2[Option ID=20326]
3[Option ID=20327]
4[Option ID=20328]
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Which of the following peripheral devices are considered as only input devices?
(A) Speaker

(B) Barcode Reader

(C) MODEM

(D) Graphic Tablet

(E) Mierophone
Choose the correet answer from the options given below :

(1) (B), (D) and (E) only

(2) (B). (C) and (D) only

(3) (A). (B) and (E) only
(4) (0).(D)and (E) only
Frafafia affe (Iftke) v § & FA-8 Fae 702 00 5 =9 § 71 o6 87
(A) TR
(B) amFs g
(C) =Ew
(D) mieF e
(B)  wmsrem
A= Tou o, Fedl 8 8 g 3w = =ae Fif
(1) = (B), (D) 3R (E)
(2)  F=7 (B), (C) #iv (D)
(3) FEF (A). (B) 5 (E)

) ¥ (C). (D) 5 (E)

1[Option ID=20329]
2[Option ID=20330]
3[Option ID=20331]
4[Option ID=20332]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A):  The Internet of Things (IoT) is a rapidly evolving technology due to its

wide range of applications.
Reason (R) : 10T is inherently immune to Cyber attacks.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the eorrect explanation of (4)
(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true

<1 = e fou T § ¢ u SAeeE (Assertion A) % ®9 # fafiag & o7 780 395 #9 (Reason R) % &9

H -
sl (A) $TeE HAE g (3E o f) IuE = T W ST (Tefeeee) #F w et
F forfaa 2 areft dhfved 21
A0 (R) : TS 1 7 TTgE eHEl § Seariied ®9 H Wi €1
ST FUA & A |, 9 B el § 8 wd 3w e =he fif
(1) (A) =it (R) 941 @ & sift (R), (A) 1 6 =2 2

(2) (A) 3 (R)ZHT & &, @ (R), (A) 1 7 =men 74 21
(3) (A)T= &, afe (R) 39w 21
(4) (A)"= &, #ifa (R) 3@ 21

1[Option ID=20333]
2[Option ID=20334]
3[Option ID=20335]
4[Option ID=20336]
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Consider the following information based on an email software application in whicn an email

attachment is being sent:

From : A Ce : CD

To /B Bee : E

Subject : CV of Amit

Message : Please find attached the CV of Amit.

with regards

Attach : AmitCV.doex

How many people will receive copies of the attachment?

1) 2
2 3
3) 4

i

(4)



ST THEET U W eI Heteiay gamet W faew fiis 5 UF § 0 g e 9

=R
H DA = = C.D
F1 5 B fidid ;. E

1) 2
(2) 3
3)

(4) 5

1[Option ID=20337]
2[Option ID=20338]
3[Option ID=20339]
4[Option ID=20340]
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Global warming is attributed to the presence of the following gases in the atmosphere:
(A) Methane
(B) Sulphur dioxide
(C) Surface Ozone
(I Nitrogen dioxide
(E) Carbon dioxide
Choose the correct answer from the options given below :
1) (A (B). (C), (E) only
(2) (A), (C), (E) only
(3) (). (C). (D). (E) only

(4) (A), (B). (D). (E) only

A § et § @ e e R suteats w1 Sfves w (e aiEn) % fae swer e
E i

(a)  HeE

(B) ¥TH IHAERS

(C) =am i 3i=E |

D) A SIEATS

(B) w7 3 sms

H= fou o ol # 8 A8 I 1 = i

(1) F=E (A), (B), (O). (E)
(2) FAE (A), (O), (B)

(3 T (A), (C), (D), (E)

(4)



FAe (A). (B), (D), (E)

1[Option ID=20341]
2[Option ID=20342]
3[Option ID=20343]
4[Option ID=20344]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : In vitro testing forms the basis for hazard identification.

Reason (R) : In vitro studies are performed within the same biclogical entities.

In the light of the above statements, choose the correct answer from the options given below :

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R} is false

(4) (A)isfalse but (R) is true

Fia 21w faw o E : U s (Assertion A) % w9 § fofian # 97 g0 35 % (Reason R) % &9

L

s (A) : At wieam (2fe2m) emaer Teae % fom smuw = i = 21
Fmo (R) : A2 oA B Ha-geaa % e FonfEa e s 2
I FA F A A, T By T T § @ w6 I H e A

(1) (&) 3 (R) 3F1 & 7 3 (R), (A) F =78 =wem 2

(2) &) 3R (R)Z Fe €, w1 (R), (A)  w s w6 2

(3) (M7 R, FfF (R) 38 2

@ (A) 3 &, wife (R) 599 81

1[Option ID=20345]
2[Option ID=20346]
3[Option ID=20347]
4[Option ID=20348]
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Match List I with List 1T

ListI List IT
(Types of Waste) (Examples)
(A) Municipal waste {I) e-waste
(B) Toxic waste (II) Straws
(C) Biomedical waste (IIT) Demolition waste
(D) Agricultural waste (IV) Syringes

Choose the correct answer from the options given below :
(1) (A)-0), (B)-III), (C)-aV), (D)-(T)
(2) (A)-(D). (B)-(1), (C)-(AV), (D)-(1)
(3) (A)-(ID). (B)-(D), (C)-(IV). (D)-(I1I)

(4)



(A)-(IV), (B)-(III). (C)-(1), (D)-(ID)

-1 % = ge-11 = T i
-1 -1
HIHE & TH FEE
(A) A st I E-F=u
(B) e aafme an =
(C) Fg-Tafmeadm F=u (ITT) Hew=T
(D) Y smfE (IV) Tt (fafeam)

Hr fou o et @ @ T I = i
(1) (A)-(I), (B)-(I1L), (C)-(IV), (D)y-(II)

(2)  (A)-(IID), (B)-(D), (C)-(IV), (D)-(1I)

(3) (A1), (B)-(T), (C)-(IV), (D)-(11T)

(4)  (A)-(IV), (B)-(I1Ly, (C)-(D), (D)-(IT)

1[Option ID=20349]
2[Option ID=20350]
3[Option ID=20351]
4[Option ID=20352]
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Gray Water consists of
(A) Kitchen waste water
(B) Waste water containing fecal matter
(C) Waste water from industrial units
(D) Bathroom waste water
(E) Water from agricultural run-off
Choose the correct answer from the options given below :
(1) (A), (B). (C). (E) only
(2) (M), (C), (D), (E) only
(3) (C) and (E) only
(4) (A)and (D)only
Hede (1) W § miwe g g
(&)  THER 9w s ww
B)  we - G sl e
(€) STl S % i
(D) HHFR - FIEE TE
(E) = &= & =% 70 9=

= fou mu et 8 ® ad o @ 99 Fifau
(1) F== (A). (B). (O). (E)

(2) == (A), (O). (D), (E)
(3) Fad (C) 3 (B)

@ Hae (A) 3 (D)

1[Option ID=20353]
2[Option ID=20354]
3[Option ID=20355]
4[Option ID=20356]
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Concept behind fuel cell vehicles (FCVs) 1s




(1) Using solar energy to run cars

(2) Using rechargeable batteries to run cars

(3) Using hydrogen and oxygen to run cars
(4) Using improvised CNG to run cars

{9 E Al (e S Sfesha) (w6 = AT % 9 i dwe £
(1) =W I 7 =T IA T I H
(2) R e 2 [ 919 A S e SwEn w5
(3) SR eI B EHEISH SN SAHis T8 1 3T FET
(4) =R e 7 FW IS (30EESs) T w I ==

1[Option ID=20357]
2[Option ID=20358]
3[Option ID=20359]
4[Option ID=20360]
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‘SAMVAY’ stands for

(1) Skill Assessment Matrix for Vocational Advancement of Youth

(2) Skill Acereditation Matrix for Vocational Assessment of Youth

(3) Skill Assessment and Monitoring Vocational Advancement of Youth

(4) Skill Assessment and Monitoring of Voecational Aptitude of Youth
‘wWuEm A A A s

(1) o e G W A teatane S g

(2) fewe whifsesm Afzaa wit grbeme sieeHe i 99

(3) o aTwz U Al 311 Srhere Tgaieie i 94

(4) e TNz U WHET 311 SHeme ULi2es 5% 99

1[Option ID=20361]

2[Option ID=20362]

3[Option ID=20363]
4[Option ID=20364]
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Objectives of Value Education are

(A)  Responsible and cooperative citizenship.
(B) Development of skills and imparting voeational training,

(C) Developing democratic way of thinking and inculcation of the spirit of National
integration.

(D) Respeet for dignity of individual and diversity in society.

(E) Development of physical, mental, emotional and spiritual aspects.
Choose the correct answer from the options given below :
(1) (A), (B). (D). (E) only
(2) (A), (C), (D), (E) only
(3) (B). (C), (D), (E) only
(4) (D), (E)only
T Y e o 52 E
(A)  IoREET ¥ HEwH AR
(B) ot fam 3 = S wZe e
(C) T & Srrmite aies 1 e e S U v s W= A § e we
(D) owr W Al st = fen & g
(B)  iiftres, ", 9EE A wenfs Tegel # awe w0
= fou o Famwedi § & w6 I w0 999 it
(1) F39 (A). (B), (D), (E)

(2) = (A), (O), (D), (E)



G) 3= (B), (©). ). (B)
(4) Fae (D), (E)

1[Option ID=20365]
2[Option ID=20366]
3[Option ID=20367]
4[Option ID=20368]
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According to UGC guidelines (2021) for Multiple Entry and Exit in Academic Programmes
offered by higher education institutions, a student seeking admission to 4-years
undergraduate degree (Hons/Research) should have academic qualification of level

1) 6
2 7
(3) 4
4 9

=9 foen dvgH gRT YAT SRR SEEA § ag-Tew R T % g g @ i F fn e S
FHER, 4 — T4 i T (7 /g) Tl gum A @ % fow e e s s awehe arem
TH BT =i

(1) ¢

(2) 7

3) 4

4) 9

1[Option ID=20369]
2[Option ID=20370]
3[Option ID=20371]
4[Option ID=20372]
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In which of the following countries, the research and innovation investment as percentage of
GDP is the lowest?

(1) India

(2)  South Korvea
(3) lsrael

(4) USA

Foferfiga o 4 & fFe 9 9ty S == SEda T ashel Bie] Ie1g 1 SiqEa e = 27

(1) ¥

(2) 3 i
(3) ¥

(8) AL

1[Option ID=20373]
2[Option ID=20374]
3[Option ID=20375]
4[Option ID=20376]

Sl. No.45
QBID:1521045

Which of the following statements is true regarding Dalhousie?

( He supported Thomason’s system of varnacular education in North Western province.
( He provided the first official support for female education in British India.

(C He supported Thomason's plan for technical education in Bengal.

(D)  He reformed the Hindu College and made it the Presidency college of Calcutta.

.

A
B

Choose the most appropriate answer from the options given below :
(1) (A)and (B) only
(2) (A). (B) and (C) only
(3) (B), (C) and (D) only
4) (A), (B), (C) and (D) only




SR & Hau H el § @ w9 6w g6 B T

(A) =5 Iw-ufrEdl o | aAEen (33 foen i aires wonel = e G
(B)  Tafem v % wigen fomn %7 399 Teeht snfawiies qemm w@m 411

(C) 354 e | aehereh! e o fore afee arsn = a9 e |

(D) wm femg o § gum R S0 58 Fohe § S Fiow 37m |

= fam e fasbedi § § o9 IUgT I 6 =9 i
(1) F=a (A) 3R (B)
(2) == (A). (B) R (©)
(3) F=d (B), (C) 37 (D)

(4) I (A), (B), (C) s (D)

1[Option ID=20377]
2[Option ID=20378]
3[Option ID=20379]
4[Option ID=20380]
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Read the following passage and answer guestions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful incentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances become dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emaotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why violence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one'’s
own life, or the life of the loved one, which is why fear and insecurity typically motivate
people to do things that mere material self — interest does not.

Frererfian 3220 %1 78 30 Uy % IEE

e g &1 9 amar oy @ e gEdt Fyeen s aentes saaEn &l F s T
ol i = e & o Foer § e w e R o e % aga ow o 2| R w9 8 g ge,
AT, FH-GaME] i WA IETANE A d Heka FER Ay e et 3 seen & e
yifFae I i = w g | A v % aifis fem e T w o aeiE S W e 1,
Forer STTam W WS HHIS e R S GG & S ST TROE & AU F91 1 ST goF A 6
S Framl % sTer & Hafya wEe w1 sty G sgE-=t gt s 2 o e
wiows a7 72 Taiar f fawa fm s %6 =@ 8, 59 ada o6 aem fagn % &9 96 S o 3 aw
T o 1 el 8, 9 9% s qurd % F9E 79w 81 Sy, sk HaE % a9 5 i,
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i & Fia st e % A e v e £ =, FEE F ey § mare o sl
THifeE G TR AT 2 | st affeEt % oF ageem A aEfma § aa  fem e
g & el & fafssa &1 91 8 e o8 @ & it wEAEs Few % SR 4 35T 8 @
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# WiEA-TE B, T THE U Al MaAEa F G w1 AgE W & s @ e e
£ g1

a8 w12 7 @ T fEm oeifos e 6wl % o soht -y o R ) i e A 3 fen
#, o dia &1 w3 @y @1 oidw qon o oTwe § U weha e W 8| Fei ot s fE @ e s
o T g 2 e st w8, g6 wn v i sm ffte w1 8@ 3 el = s i S
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According to the above passage, various religious ideas prompt new forms of

(1) Human environment



(2)  gpcial mobilisation

3)

Incentives

(4) Abstractions

I e % SER e s e e e s aEe w87

(1) [FE =
(2) wHIAF THged
(3) Ia=

(4) ¥

1[Option ID=20381]
2[Option ID=20382]
3[Option ID=20383]
4[Option ID=20384]
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Read the following passage and answer questions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful incentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances become dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emaotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why violence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one's
own life, or the life of the loved one, which is why fear and insecurity typically motivate

people to do things that mere material self — interest does not.
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Emotional attachments often cloud

(1) The ohserved reality

(2)

The belief in invisible forces



(3) The reiteration of social rules

(4) The existing simple theory of the world

(1) waFerHa a9r9

(2) wwgEEdA wiEa | v
(3) witoe Femt &1 gt

(4) Towa = wefem g fagm

1[Option ID=20385]
2[Option ID=20386]
3[Option ID=20387]
4[Option ID=20388]

Sl. No.48
QBID:1521048

Read the following passage and answer guestions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful incentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances become dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emational investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why violence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one’s
own life, or the life of the loved one, which is why fear and insecurity typically motivate
people to do things that mere material self — interest does not.

Frererfian 3o %1 72 30 Uy % I E -

wid fagidrr i ara gua i & @i gt Fgoer st et = F Gl F s T
i i e it & w1 faen=ft # wn we Al R o i % omga ow w2 T e S gw g,
syremiEi, SE-gAEl ot W= sgTANE Wi d HeEtud FER A fEe et o sguen % e
yifE IR i = w g | e v % aifis fem se amee o aeiE S W e g,
Fomr sTmam W e T e R o o S T TREE & AU F S AT goE i 6
i Fawl % ST & Sefya SEs #1 st S sgE-=t giifred s ® fF w5 o aefes
wfeed ag 72 Zaiar f fava fm won %6 =@ 8, 99 adg o aem fagm % &9 76 9 3 36 a9
ST T ST Teke §, O 9 STl Tod % SIS Tl Al | A, Wehs e e § o,
W& uftew & aliam % e Fan 2, S fgE * g aeaess e ke w0 ed § i ag e
FA FU ST T 0 faiy e 7 3 e g em # ) st o & oy aethe wiee s
fagmi # faw i wafe 8 oy o Fi Sieae e 2 N 99 g S 9T TR AT 8 |
wif, s o7d 77 off & 7 ow st =Tean) 2 § o 39 e e w5 A & e w5 E)
a7 aifie fa=ml & AWa # gaEies T R, o o-fae e o9 e, seee s ff-fae %
Hfidi & sfwia st W % A FEfEE e f v wd £, FeE § dey § mare o sl
THifeR & w R Er AT 2 | Tt aftfeEt % o ageem A sEa § s e e dean
g & el § fafssa &1 11 8 e 398 @ & i WEAEs Few % SR 3 35l 8 @
FHAT| FEH w4 g% & 5wt afged ums Hem-a aged fEafaE % g v i o saEeE
Ft - B, T EE TF o e 0 ST Hl 8 fEs @ At g
g 21

o8 w9z i & TR TEm weifoes e 1w & o sl Sa-fig @ 2 Sl w3 3R R
#, T dia &1 w9 @Y 41 SAidE qn B SR § U weaa tae W 8 | Fee ot s @ e &
S T g 2 e St wie B, g6 wn v i sm e w1 8@ 3 el = s o
=i &, =1 e Hifoes w=-fem 6 2w



Tendency to invest in mental models with intrinsic worth promotes
(A)  Opposition to social control

(B) Social stability

(C) Preserving dominant ideas

(D) Secularisation of society
Choose the correet option :
(1)  (A) and (B) only
(2) (B) and (C) only
(3) (C)and (D) only
(4) (A)and (C) only
i e % AR S § i S A e 8 e wafte w27
() e e @ e
(B)  wmite e
(C) vt o= &1 wwam
(D) @ETS w1 aH- e
w foe
(1) ¥4 (A) 3 (B)

() 3= (B) & (O)
(3) Faa (C) 3 (D)

(4) FA (A) 3 (O)

1[Option ID=20389]
2[Option ID=20390]
3[Option ID=20391]
4[Option ID=20392]

Sl. No.49
QBID:1521049



Read the following passage and answer guestions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful incentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances become dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emational investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why violence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one’s
own life, or the life of the loved one, which is why fear and insecurity typically motivate
people to do things that mere material self — interest does not.
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Because of mental investment, political development is invariably associated with

(1) Economie motivation
(2) Prolonged stasis

(3) Conditional adjustments

(4) Violence

wHEeE fEm & www aedifas e sl =9 4 e et 27
(1) AEF T

@) it et
3) Ty FHEEA
(4 &

1[Option ID=20393]
2[Option ID=20394]
3[Option ID=20395]
4[Option ID=20396]

Sl. No.50



QBID:1521050

Read the following passage and answer questions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful incentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances become dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why violence has been so central to the process of political
development. As Hobbes points out, the fear of viclent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one's
own life, or the life of the loved one, which is why fear and insecurity typically motivate
people to do things that mere material self — interest does not.
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=zt &, S e it w=-fea 76 2 T |
The passage draws our attention to the influence of
(1) Empirical evidence in theorisation

(2) Secular norms on society

(3) Abstract ideation in human mind

(4) Shifting social behaviour

I TR g TR S werE & Wi e steRfda e B
(1) Tagidm § a7

(2) T W gE fy fem

3) A e § s e

(4) FEEAl gWITa FgaR

1[Option ID=20397]
2[Option ID=20398]
3[Option ID=20399]
4[Option ID=20400]

Sl. No.51
QBID:1021001

Which of the following is not considered as Tattva (779) in Sankhya Darshana (F7ea 59 7
(1) =% (VYAKTA)

(2) =@ (AVYAKTA)

(3) fEvesr (VITANDA)

(4) 7 (JNA)

g a3 f=fafiga § 9 frae T 38 qman?

1[Option ID=21201]
2[Option ID=21202]
3[Option ID=21203]
4[Option ID=21204]

Sl. No.52
QBID:1021002

Sound (%31) is connected to which Mahabhuta (Fz14d)?
(1) Jala

(2) Tea

(3) Vawvu

() Akasha
el 1 araey fohg wanm o 27
O I
® I




3)

ag
@ STHRT

1[Option ID=21205]
2[Option ID=21206]
3[Option ID=21207]
4[Option ID=21208]

Sl. No.53

QBID:1021003

Which Veda has the Valk sukta?
(1) Rigveda

(2) Yajurveda

(3) Atharvaveda

(4) Samaveda

T G | ag | 37

1[Option ID=21209]
2[Option ID=21210]
3[Option ID=21211]
4[Option ID=21212]

Sl. No.54
QBID:1021004

Which philosophical tradition has ‘Satkaryavada’ (55F7aTm5) as its principle?

(1) Charvaka Darshana
(2) Jaina Darshana

(3) Nvaya Darshana

(4) Sankhya Darshana

TohraTe fohm g3 =1 g 27
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1[Option ID=21213]
2[Option ID=21214]
3[Option ID=21215]
4[Option ID=21216]

Sl. No.55
QBID:1021005

Which of the following is not a part of Dharma?




M shruti
(2) Smriti
(3) Conduct of the knower of Dharma.

(4) Avesta

o} 1 0 TE @ -

1[Option ID=21217]
2[Option ID=21218]
3[Option ID=21219]
4[Option ID=21220]

Sl. No.56
QBID:1021006

Vyavahara-adhyvaya of Dharma Shastra relates to:
(1) Daily conduct

(2) Conflict

(3) Diplomatic conduct

(4) Political process
-y § SR %1 Hay fFad 27
@ 2fie =aEr

@ foarg

S
3 epcdiden eddalt

@ TeIAfdes isha

1[Option ID=21221]
2[Option ID=21222]
3[Option ID=21223]
4[Option ID=21224]

Sl. No.57
QBID:1021007
Amongst ten attributes of Dharma. the term ‘Dama’ implies:

(1) Control of Prana
(2) Control of zense and motor organs

3) Control of Artha (wealth)

(4) Control of desire

o % AqT H g0 o1 A 7 27
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1[Option ID=21225]
2[Option ID=21226]
3[Option ID=21227]
4[Option ID=21228]

Sl. No.58
QBID:1021008

The definition of ‘Dharma’ as
“dharnaddharma ityahuh dharmo dharavati prajah |
vassyaddharanasamyuktah sa dharma 1ti nishchayah| |~

finds mention in:
(1) Mahabharata
(2) Manusmriti
(3) Yajnavalkya Smriti

(4) Valmiki Ramayana
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1[Option ID=21229]
2[Option ID=21230]
3[Option ID=21231]
4[Option ID=21232]

Sl. No.59
QBID:1021009

Which among the following is the reason for Vaikritika Bandhana according to Sankhya
Darshana?

(1) Devotion (Upasana) to Ishwara
(2) Understanding of Tanmatra as the ultimate truth
(3) Digging of wells

() Realization of Brahma

greesiF # g ¥ frafafea § @ & Jfoes awum 1 o e e
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1[Option ID=21233]
2[Option ID=21234]
3[Option ID=21235]
4[Option ID=21236]

Sl. No.60
QBID:1021010

According to Advaita Vedanta. if one does not get the results of some Karmas in this life. then
their results:

(1) Get destroved automatically
(2) Are received by relatives

3) Are received in future lives

(4) Are not received in the future

Hgd g & ATER 5 HHT 1 el 36 T9 § 6l THrdm ST Hei-

w FId: 98 g 418
@ GrafeE o fien 2
@ AT S H firerdr 2

@  FATH S A 9g] e

1[Option ID=21237]
2[Option ID=21238]
3[Option ID=21239]
4[Option ID=21240]

Sl. No.61
QBID:1021011

Which Karma among the following iz the reason of Dakshinaka Bandhana according to
Sankva Darshana?

(1) Desire of pleasant touch

(2) Study Shastra from a Guru
(3) Remembering Bhagavan

(4) Building temple
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1[Option ID=21241]
2[Option ID=21242]
3[Option ID=21243]
4[Option ID=21244]

Sl. No.62
QBID:1021012

Which Karma among the following does not get destroved by Brahmajnana?
(1) Prarabdha Karma

(2) Nitya Karma

(3) Sanchita Karma

(4) Prayashchitta Karma

SIEISIE © hiF 91 H A8 T8l gdar 27
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1[Option ID=21245]
2[Option ID=21246]
3[Option ID=21247]
4[Option ID=21248]

Sl. No.63
QBID:1021013

‘There is smoke on the other side of the mountain. thervefore. there is fire'.

This 1z an example of which testimony?

(1) Perception
(2) Analogy
(3) Inference

(4) Non-apprehension

qed < 3T IR AT 2| 37d: J@T A 2|
T forg JHTOT =T JeTETuT B 7

@ YI& THTIT
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3) g
@ FIIAEY JHT

1[Option ID=21249]
2[Option ID=21250]
3[Option ID=21251]
4[Option ID=21252]




Sl. No.64
QBID:1021014
In which testimony Vyapti — sambandha is accepted?

(1) Perception
(2) Analogy

(3) Inference

(4) Verbal Testimony

1Y gey fohe S99 § /=T SiTdT 2 7

@ YI& JHIU

@  IYHT YHTOT
@  SIEE JHI

@ 352 YHTOT

1[Option ID=21253]
2[Option ID=21254]
3[Option ID=21255]
4[Option ID=21256]

Sl. No.65
QBID:1021015
Which testimony is accepted by all philosophical schools?

(1) Inference
(2) Presumption

(3) Non-apprehension

(4) Perception

for| s Rt Wt gl | el foR B 7
@ SAFHH JHIT
@ YT SHT

@  JcA& A

1[Option ID=21257]
2[Option ID=21258]
3[Option ID=21259]
4[Option ID=21260]

Sl. No.66
QBID:1021016

‘T am seeing the Sun'. Here the process of knowing the Sun is related to:

(1) Inference




@ Perception

(3) Presumption

Anoclogy
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(4)
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1[Option ID=21261]
2[Option ID=21262]
3[Option ID=21263]
4[Option ID=21264]

Sl. No.67
QBID:1021017

When two parties debate to know truth. then such a debtate is known as -
(1) Jalpa
(2) Vada
(3) Vitanda

(a) Tarka
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1[Option ID=21265]
2[Option ID=21266]
3[Option ID=21267]
4[Option ID=21268]

Sl. No.68
QBID:1021018

Most of the political debates on news channels in contemporary times are :

(1) Jalpa
(2) Vada
(3) Vitanda

(4)



Tarka
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=L

® Foq

1[Option ID=21269]
2[Option ID=21270]
3[Option ID=21271]
4[Option ID=21272]

Sl. No.69
QBID:1021019

Which among the following is not a part of the Adhikarana paddhati?

(1) Vishaya
(2) Sanshaya
(3) Purvapalksha

(4) Apavada

ARt Ul 1 Fi oTg TE 27
@ fagg

@ HIF
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1[Option ID=21273]
2[Option ID=21274]
3[Option ID=21275]
4[Option ID=21276]

Sl. No.70
QBID:1021020
Four Upavedas are :-

(1) Gandharvaveda. Dhanurveda. Shastraveda. Avurveda
(2) Gandharvaveda. Dhanurveda. Ayurveda. Avthashastra.
(3) Gandharvaveda. Dhanurveda, Ayurveda. Astraveda

() Sty Shastesiiia Avirveds, Dlissiseda,
<R 39eIE, & -
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(4)




FeftawE, SEE, Agae, Y9dq

1[Option ID=21277]
2[Option ID=21278]
3[Option ID=21279]
4[Option ID=21280]

Sl. No.71
QBID:1021021

Application of the Western method of psycho-analysis to Bharatiya traditions and customs
may vield the following consequence:

(1) Usually trivialised understanding of experience.
(2) Interpreting lives of saints in possibly psychopathological terms.

Individuals considered enlightened in the tradition may get projected as morally

3
& suspect and degraded.

(4) All the above
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1[Option ID=21281]
2[Option ID=21282]
3[Option ID=21283]
4[Option ID=21284]

Sl. No.72
QBID:1021022

One of the concepts used by Post-modernizsts is Post-truth. This concept:

(1)  Uses literal understanding of the text.

(2) Places little emphasis on facts.
(3) Places absolute emphasis on facts

(4) Uses biographical analysizs of the author.

F-anyearg § “Ia-ac (Post-truth) T ftehedd T 21 38 IiehedaT 1

@ 13 T IMfsash =amean i Jdt 2|
@  qeIl 9T ﬁ%aﬁﬁﬁmw%l

@) qe] G gdied ad &1 S gl
@ g Hl ol o favayor 1 3wFw R S 2l

1[Option ID=21285]
2[Option ID=21286]
3[Option ID=21287]
4[Option ID=21288]

Sl. No.73
QBID:1021023

Which of the following is true about post-colonialism?




) It 1= about studyving societies over time-periods prior to the rise of colonialism.

(2) Tt is about studying colonisers.

(3) Itis a Western approach to study only colonised societies.

IR-3uawEE & a1 § = § & R @1 9T wEl 27

@ g IUFETETE % 359 ¥ Ugel % HIA-Tel % A h HTA U Geivd 2|
@ I8 JufEETed % eaE % ary § 2

@ g had IuMfRd THTS % e i afvedt ugfa )

@ Ig YT 9Id & a9 6l ugid 2l

1[Option ID=21289]
2[Option ID=21290]
3[Option ID=21291]
4[Option ID=21292]

Sl. No.74
QBID:1021024

Orientalism is a Western way of understanding non-Western cultures. This idea was
proposed in a book titled “Orientalism”. This book was authored by-

(1) Wordsworth
(2) Karl Marx
3) Edward Said

(4) Shakespeare

gregaTe (3Aferefasy) -ufvadt sepfaat & e & v e fafy 21 =g fmm, “safo
ek gEas § gfaurfed foRm ) sae dwe 9-

SREESEL
@ T HTHE

® UTgdE Usq
(4) Wﬁa{

1[Option ID=21293]
2[Option ID=21294]
3[Option ID=21295]
4[Option ID=21296]

Sl. No.75
QBID:1021025

The brmdge connecting Bharata and Lanka 1s popularly known as:

(1) Lanka Setu

(2) Rama Setu
(3) Nala-Nila Setu

(4) Sethu-samudram



WA 3R @1 ! STIe aTel | ol AR A 71 82

@ g 13@
@ TJA-AdA ﬁg

@ HG-TEgH

1[Option ID=21297]
2[Option ID=21298]
3[Option ID=21299]
4[Option ID=21300]

Sl. No.76
QBID:1021026

Which of wife of Dasharatha was an expert in warfare?
(1) EKausalva

(2) Kaikevi

(3) Sumitra

(4) All of the above

ZIRY it B W uclt Fgeran ¥ fAgor off ?

©) Wﬁ?ﬁﬂﬂﬂ

1[Option ID=21301]
2[Option ID=21302]
3[Option ID=21303]
4[Option ID=21304]

Sl. No.77
QBID:1021027

Which of the following is not an ancestor of Shri Rama?
(1) Iksvaku

(2) Raghu

(3) Surya

(4) Chandra

Prferfia i & 2 o T ¥ i 78 §7
w  R&ATH




a5

1[Option ID=21305]
2[Option ID=21306]
3[Option ID=21307]
4[Option ID=21308]

Sl. No.78
QBID:1021028

Which of the following person is not mentioned in Ramayana?
(1) Maricha

(2) Subahu

3) Ghatotkacha

(4) Tadaka

frfafad 7 @ e =afea =1 3ga wro d 76 27

1[Option ID=21309]
2[Option ID=21310]
3[Option ID=21311]
4[Option ID=21312]

Sl. No.79
QBID:1021029

]

What was the purpose of building “Lakshvagriha™
(1) To kill Pandavas

(2) To ensure Pandavas security

3) To provide luxurious life to Pandavas during their exile

(4) To keep Pandavas hidden from the public eye

TneAmE S T 3evd T A17

@ grgdl 6l T HET

@ qrgal shi rer gHfvEa HE

@ UTEal &l 3Tk FHare-e | foenfaar-qol sfeq 3ueey w
@ TSl i SH-FM 1 38 | T &

1[Option ID=21313]
2[Option ID=21314]
3[Option ID=21315]
4[Option ID=21316]

Sl. No.80
QBID:1021030

“Dharme arthe cha kame cha mokshe cha bharatarshabha |
Yadihasti tadanvatra vannehasti na tatkvachit | | This shloka is from which epic?

(1) Mahabharata
(2) Ramayvana

(3) Bhagavata Purana




(4) Vishnu Purana

Yo 319 9 W T WA T WAy | dfcgTia g IHgied 9 denrad |’

39 YeAish fohd HETRIT | 27

@ HEHIT
@ {HE

) HIETId G901

@ Torsu] g

1[Option ID=21317]
2[Option ID=21318]
3[Option ID=21319]
4[Option ID=21320]

Sl. No.81
QBID:1021031

As per Mahabharata. Bhima met Hanuman while searching for which flower?

(1) Rose

(2) Saugandhika Pushpa
(3) Marigold

(4) Lillies

HETIRA o IER R o il @I id gC WiE AE | fae 97

@ Al
2 WE—W

1[Option ID=21321]
2[Option ID=21322]
3[Option ID=21323]
4[Option ID=21324]

Sl. No.82
QBID:1021032

How do we break the conjunction (d4) in Manisha (&+1) 7
(1) Manas+isha
(2) Mano+isha

(3) Man+isha

o) Mani+isha
‘gt ve o1 afufaeee § -
@ HAY + 'gﬁl'[

(2) q:ﬁ+§-q-[



3 HA +‘§'5|'I
(4 IFP[ +§'El'l

1[Option ID=21325]
2[Option ID=21326]
3[Option ID=21327]
4[Option ID=21328]

Sl. No.83
QBID:1021033

What 12 the suffix in "Agatya’?

(1) Yat
(2) Lyap
(3) Nvat

‘e’ Ued @

@ Iq

1
@ Y
@ TIq

@ <3¢

1[Option ID=21329]
2[Option ID=21330]
3[Option ID=21331]
4[Option ID=21332]

Sl. No.84
QBID:1021034

In which conjunction (Sandhi) do we use the ‘==’ Pratyahara?
(1) Purva Rupa
(2) Vriiddh
(3) Dirgha

(4) Yan

‘Tg’ TeATER 1 fohw A~y § w&T g 27

(3) fﬁ?}

@ 49U

™

1[Option ID=21333]
2[Option ID=21334]
3[Option ID=21335]
4[Option ID=21336]

Sl. No.85
QBID:1021035

The Dwitiya Ekavachana of Yushmad Pratipadika is:
(1)




Mama (79)

(2) Tava (d99)

3) Tvam (F=H)

(4) Nah {:!: :'

g WTfauTiees shi Tgd ™ o Tehaed o1 €9 @ -

™ H{H
2 dd
@ CH
@ H:

1[Option ID=21337]
2[Option ID=21338]
3[Option ID=21339]
4[Option ID=21340]

Sl. No.86
QBID:1021036

Agmni mandir of Baku 1= in which country?
(1)  Azerbaijan
(2) Tajikistan
(3) Iran

(4) Kyrgvzstan

TR 1 SA-Hi g | 27

1[Option ID=21341]
2[Option ID=21342]
3[Option ID=21343]
4[Option ID=21344]

Sl. No.87
QBID:1021037

The army of Aurangzeb was defeated in Assam during the period of ;
(1) Chakradhwaja Singha
(2)  Jaswant Singh

(3) Pratap Singh

(4) Lalit Singh

s et U 19| ° TS okl BT qfstd bl s ?
) FRea fHa

(2)




g oz
@ Yqq &g
@ ofdd g

1[Option ID=21345]
2[Option ID=21346]
3[Option ID=21347]
4[Option ID=21348]

Sl. No.88
QBID:1021038

The Sun Mandir (Martanda Mandir) of Kashmir was built by:
(1) Avanti Varman
(2) Lalitaditya
(3) Kalhana

(4) Harishchandra

wvHR § g Af=x (aive wfr) o fmior foraa sweam on?
@ I THT

1[Option ID=21349]
2[Option ID=21350]
3[Option ID=21351]
4[Option ID=21352]

Sl. No.89
QBID:1021039

How many chapters are there in the Bhagavadgita?

(1) 24
(2) 06
(3) 18
4) 12

Wiradlar § feraw a1eam 87
w 24
@ 06
@ 18
@ 12

1[Option ID=21353]
2[Option ID=21354]
3[Option ID=21355]
4[Option ID=21356]

Sl. No.90
QBID:1021040



From which pilgrimage city a princess got married to a Korean prince of the Kim Dynasty

-

and became the Queen of Korea?
(1) Ujain

(2) Ayodhya

3) Kazhi

(4) Mathura

fore el it v TIAT 3 FoRm-aw o i TogER @ faarg foen i wifen 6

W Isad
@ I
(3) q’ﬂ?ﬁ
@ HYU

1[Option ID=21357]
2[Option ID=21358]
3[Option ID=21359]
4[Option ID=21360]

Sl. No.91
QBID:1021041

In Devyatharvashirsha (Z=7Eeid )-

(A) Bhagwati is defining herself

(B) A man 1s defining a woman
(C) A woman 1s calling herself as Brahman (5% )
(D) A woman is saying that her body is destructible

Choose the most correct answer from the options given below :

(1) A BOnly

(2) A COnly
(3) B.D Only
() C.DOnly

Fegedsi §-

(A)  wEd W& H g W= @ E

(B) U e us afgen i aftafig @ 2
(C) i @ = g a1 G 8

(D) it = e IR T @ e

Het feu e fercai & & g 3UgwH ST & 99 T
@ %Had A, B
@ Had A, C
@ had B, D




“ Fa@ C, D

1[Option ID=21361]
2[Option ID=21362]
3[Option ID=21363]
4[Option ID=21364]

Sl. No.92
QBID:1021042

In Vaidika Vanmava (5%?‘ a1Z54 ) Paramatattva can be used in any gender. Thus.

(A) The word ‘BRAHMAN 1s gender neutral
(B) The word TSHVARA 1s masculine gender
(C) The word DEVT is feminine gender

(D) The word TSHVARA' 1s feminine gender

Choose the most appropriate answer from the options given below :
(1) A B.DOnly
(2) A B.COnly

(3) A C.DOnly

(4) B.C.D Only
Afess arem ¥ wHaw foRelt ot forg o w3 B T 21 oA

(A) ST YIeg TYEHICTT B
(B) St weE gfgn @
(C)  oelt wieg whifem 2
D) TR =g #Hferm @

g feu wu foereui d @ @) I = w9a i

@ had A, B, D
@ Had A, B, C
@ ehad A, C, D

@ @had B, C, D

1[Option ID=21365]
2[Option ID=21366]
3[Option ID=21367]
4[Option ID=21368]

Sl. No.93
QBID:1021043

‘Having food’ i3 which type of Karma?

(A) Naimittika Karma
(B) Upasana Karma

(O Prayashchitta Karma
(D) Nitya Karma

Choose the correct answer from the options given below :

(1) A Only

(2) A BOnly



(3 A Donly

(4) A COnly

‘Ao AT Tope 9ehie o1 Y 27

(A)  Ifafes wd
(B)  39MAT A
(C)  yrfyes %
D) T =+

= feu o fasreai § @ g 39 1 =3 hifsu .

@ HaA A

@ Had A, B
® sHada A, D
@ Had A, C

1[Option ID=21369]
2[Option ID=21370]
3[Option ID=21371]
4[Option ID=21372]

Sl. No.94
QBID:1021044

‘Karmanyevadhikaraste ma phaleshu kadachana connotes -

(A) One 1s entitled to action (karma) only.

(B) One has no command over the outcome (phala)

(C) One has no command on either action or the ocutcome.
(D) One has no command over action.
(E) One has command over the outcome.

Choose the correct answer from the options given helow ;

(1) A Bonly
(2) A Conly
(3) B.Eonly
(4) D. Eonly

AU W1 WY FEEA H FEl T2 -
(A)  wH R R ATHER 2

(B) W W RN T 21

(C) = IR wA g W AfER 7E 21
(D) W feer T R

(E) % W IR 2|

=t few e forepedi ® @ @) SO = wEa A



“ Faa A, B
@ FHad A, C
®» Had B, E
@ %aa D, E

1[Option ID=21373]
2[Option ID=21374]
3[Option ID=21375]
4[Option ID=21376]

Sl. No.95
QBID:1021045

‘My home is at the crossroad’. The meaning of this sentence through Lakshana Shabdashalkti
would be -

(A) My home 1z situated at the crossroad.
(B) My home 12 near the crozsroad.
(C) My home 1= on the crossroad.

(D) My home 18 the crossroad.

Choose the correct answer from the options given below :

(1) A Bonly
(2) Bonly
(3) C.Aonly

() D.B.Aonly

W O 9T W 2 - 39 9 o & Yeawis ¥ 31 gnm-

(A) U B SRR W2
(B) U = =IUR & 9y 2
(C) B =R <NE % T 2l
(D) W o ST # Rl

= fom o fompedl o & w3 1 =7 i :
@ had A, B

@ e B

@ Had C, A

@ %ad D, B, A

1[Option ID=21377]
2[Option ID=21378]
3[Option ID=21379]
4[Option ID=21380]

Sl. No.96
QBID:1021046



“Devadatta iz fat even though he does not eat during the day. Thus. he must be eating in the
night”, This iz an example of which testimony?

(A) Inference

(B) Presumption

(C) Conventional

(D) Non-apprehension

(E) Perception

Choose the correct answer from the options given below :

(1) A COnly
(2) B Only
(3) C.E Only

(4) B.D Only
“feq o @ fomr off 2aed Hier 21 31G: 98 U9 | @rar e’ g TR T o Seretr 27

(A A
(B)  tufgfa
©
(D)  Srguefey

(E) w3d

e o o foeredt @ @ B 3T = Hif
@ %Had A, C

@ Had B

@ %Had C, B

@ %ad B, D

1[Option ID=21381]
2[Option ID=21382]
3[Option ID=21383]
4[Option ID=21384]

Sl. No.97
QBID:1021047

In modern science. pratyaksa pramana corresponds to which scientific method?

(A) Literature review

(B) Experimentation

(C) Mathematical caleulation
(D) Anclogy

(E) Estimation

Choose the correct answer from the options given below :

(1) A DOnly
(2) B Only
) D.E Only

(4) B.E Only



(A)
(B)
©)
((3)
(E)

yeges amo ey fome o for amfe fafy & dw @ 27

gifefcs geieo
D
i afterea

IR
STeReH

Hi=r feu v famegi § & |21 39 1 =@ Fifdw .

@ shad A, D
@ had B

@ Had D, E
@ Had B, E

1[Option ID=21385]
2[Option ID=21386]
3[Option ID=21387]
4[Option ID=21388]

(A)
(B)
(C)
(D)

(A)
(B)
(©)
D)

3)

Sl. No.98
QBID:1021048

What are the characteristics of a Sangraha-grantha in Bharativa Darshana?

The text that presents tattvas and padarthas systematically
The text that describes concepts of different traditions systematically
Describing the original texts along with the critic’s views.

The text that describes the said. the unsaid. the inappropriately said.

Choose the correct answer from the options given below :
(1) A B. COnly
(2) A. BOnly

(3) AC O!’Jl}-'

(4) B.D Only

AR 3 § T8~ HaT g & 7

Tl A7 Ui il AT ®Y H TEgd FA I T

3 TEIEEl o gl & Srafeid §9 8 &qd i 9 77|
TR T- 31 SRS A T Y Ha 1 e T=4|
I, I N gEF H AT FH AT T4

= fou e foehedi # @ 9 3T 1 w9a A
w Fad A, B, C
@ Fad A, B



Fad A, C
(4)an_ch1B,D

1[Option ID=21389]
2[Option ID=21390]
3[Option ID=21391]
4[Option ID=21392]

Sl. No.99
QBID:1021049

Which of the following statement(s) are correct?

(A)  There is little evidence to substantiate Sigmund Freud’s model of human psychology.

(B) As per Freud, a human being’s life-span can be partitioned into five stages of psycho-
sexual development,

(C) Psycho-analysis is a Western method which is used to also address mental disorders.
(D) The effectiveness of Freudian methods has been a subject of intense debate.
Choose the correct answer from the options given below.

(1) AOnly

(2) BOnly

(3) D Only

(4) A.B.CandD

Frafafaa & & w6 fawes =)

(A)  Tomig wEE i aedE wAfaEE i SEgnn F aueda § ugie |91eg @ 2l

(B)  WIFE % IUR HM4 Sfiad i Ui FAICieR SR § siel 91 dhal 2

()  wifaermn qHfas UM #1 ff guge 7g 39 § @i S arel s g fafa 21

D)  wre i fafte A e Ted == w5 o W

13 fae e Pt # @ T S o A
@ Had A

@ had B

@ had D

@ Tt A, B, C 3D

1[Option ID=21393]
2[Option ID=21394]
3[Option ID=21395]
4[Option ID=21396]

Sl. No.100
QBID:1021050

Structuralism is a method of understanding societies. It emerged in the 20 century. Which
statement(s) are true?

(A) The roots of Structuralism may be traced back to Sanskrit linguistics.

(B) Saussure proposed his understanding about structures of languages.

C) Structuralism was used by Claude Levi-Strauss in the area of sociology.

(D) All of the above.

Choose the correct answer from the options given below :

(1) A Only

() A & BOnly



(3) B & C Only
(4) D Only

AT TS B T H uw fafa 21 s S dfiwel sl # gen on #A @ Fefafes
Wl &

(A)  TEHRA W H ST 1 S S6Ed: I ST gl 2
(B)  T&E A Rl ST & a1 H 31U Tue wega i off|
(C)  THESTE % &5 H GEATETE 1 SYA F1s3s dat-&2i| o fomam o

(D) 3w wi

3 o e foeredt § @ W I T AR
@ Had A

@ Had A 3B

@ FHad B 3t C

@ hael D

1[Option ID=21397]
2[Option ID=21398]
3[Option ID=21399]
4[Option ID=21400]

Sl. No.101
QBID:1021051

Kaikeyi was a strong and powerful woman because:

(A) She was a warrior.
(B) She could take independent decisions.
(C) She was highly learned.

(D) All the above

Choose the correct answer from the options given below :

(1) B. A Only
(2) B.COnly
(3) A, COnly

(4) D Only
Frft U TRk A ot FifE -

(A) 9% T g A
(B) g Tad favla o o mam oft

(C) =% U fag off)
(D) 39w @t

et fou e fyecat # @ we@ 3ugwh S S = i
@ whad B, A
® ¥a@ B, C



® Fad A, C
@ had D

1[Option ID=21401]
2[Option ID=21402]
3[Option ID=21403]
4[Option ID=21404]

Sl. No.102
QBID:1021052

Choose appropriate combinations of characters of Ramavana and corresponding adjectives.

(A) Maryada Purushottama Rama
(B) Shiva Bhakta Ravana

() Pativrata Sita

(D) Kutila Manthara

(E) Ramabhakta Hanuman

Choose the correct answer from the options given below :

(1) A BOnly
(2) B.C.D Only
(3) A E.DOnly

@ ABCDE
frefefaa & & oo 3 = ot & wd foRmmen % @y = gen 21 39 axgl w5 gia|

(A)  HIfE gESEH TH

(B) Fraww wEwr

(C)  wfdsrar diar

(D) Ffea wem

(E) THYTH gJHTM,

#i= feu 7 faeeat § 9 9@t 39X 1 <A Fifs
W FHIA A B

@ ghad B, C 3 D
@ Had A, E 3D

w A B, C, D3E

1[Option ID=21405]
2[Option ID=21406]
3[Option ID=21407]
4[Option ID=21408]

Sl. No.103
QBID:1021053



Which of the following pairs are not hushand-wife?

(A) Bhima and Hidimba

(B) Bhima and Draupadi
(C) Arjuna and Subhadra
(D) Arjuna and Chitrangada
(E) Yudhishthira and Kunti

Choose the correct answer from the options given below :
(1) E Only
(2) B and C Only
3) D and E Only

(4) B.C.DandE Only
frafafaa & & fofm 3w ¥ afa-gch 1 9ay 78 27

(A)  ¥im wE fefer
(B) W @ gl
(©) o157 T g
(D) 379 wd Femmme
(B 7R @

ﬁ%mmﬁwﬁﬁﬁ@wwﬁﬁq:
@ had E

@ FHad B, C

@ %ad D, E

@ Had B, C, D, E

1[Option ID=21409]
2[Option ID=21410]
3[Option ID=21411]
4[Option ID=21412]

Sl. No.104
QBID:1021054

Indentify the correct sentences from the following:

(A) Draupadi was the daughter of Drupada.
(B) She had pledged not to braid her hair till Durvodhana was killed.

©) Krichna saved Draupadi from dishonour. while she was being disrobed by the
Kauravas.

(D) Draupadi mocked Duryvodhana at Indraprastha.
Choose the correct answer from the options given below :
(1) ABCD
(2) A B COnly

3) A B.DOnly

(4) A C.D Only




frafafaa 7 9 9 wu9 vg=r|

(A)  Zrdt gug R off)

(B)  grudt 3 wfesm i 6 97 79 9% o104 9 T St 59 9 6 gEies @ 39 T @ Sy
(C) & &Ra Qe o1 <o X @ 9 91 F0 3 Gt 1 g S

(D) 3w | Zdt 3 gated @ SuEw f|

a1 faw Ty fasheui & @ ged 3ugwh I H T HIC :
o it A, B, C,D

@ whad A, B, C

@ %ad A, B, D

@ &Had A, C, D

1[Option ID=21413]
2[Option ID=21414]
3[Option ID=21415]
4[Option ID=21416]

Sl. No.105
QBID:1021055

Which of the following are present in the Mahabharata?

(A) Shantanu-Satyavati
(B) Ramakatha
48 Nala-Damayanti

(D) Shakuntalopakhyana

(E) Bhima-Hanuman Samvada

Choose the correct answer from the options given below :
(1) A B.Conly
(2) B.C.Donly
3) A.B.C.Donly

@4 AB.CD.E

fr=fafea @ @ %9 wemre o sfeafeaa 27
(A) 9= - Fead!

(B)  uHs

(C) Fd-=Hg=

(D)  IMEHAAITEH
(B)  ¥H-ggAH Hag

Fr=r fow Tu faereql @ 9 GEl 3 1 =9d Hif
@ had A, B, C
@ %ada B, C, D



@ @had A, B, C, D
@ A B, C, D, E

1[Option ID=21417]
2[Option ID=21418]
3[Option ID=21419]
4[Option ID=21420]

Sl. No.106
QBID:1021056

“Dharma samsthapanarthaya sambhavami yuge vuge” is from:

(A) Mahabharata
(B) Bhagavadgita
(&) Ramayana

(D) Padma Purana
(E) Anu Gita

Choose the Correct answer from the options given below :
(1) C.D.E Only

(2) D.E. COnly
3) C.DOnly

(4) A.BOnly

“spfereoeta S T g - 78 Fe e & forn T 27

(A)  HEYRa
(B)  wmEdrn
(C) THRET

(D) TR
(B) 319 T

A e T fereedt W @ WE ST W T ;
@ %Haa C, D, E

@ had D, E, C

@ %ad C, D

@ had A, B

1[Option ID=21421]
2[Option ID=21422]
3[Option ID=21423]
4[Option ID=21424]

Sl. No.107
QBID:1021057



The pada (9%} ‘Asmai’ (37H) is-

(A) Form (¥9) of 328 (Idam)
(B) Feminine gender (&ifeT)
(C) Masculine gender (35%)

(D) Fourth case (9947 fa9f)
Choose the correct answer from the options given below :

(1) A B.C Only
(2) A C.D Only

3) B.C.DOnly

‘IR’ e 2-
(A)  TH A
(B)  #iferg

© des
D) =g faufe

et feu e foshel # | w6 I H T AT ;
w &HId A, B, C
@ &Had A, C, D
@ %ad B, C, D
@ %ad A, B, D

1[Option ID=21425]
2[Option ID=21426]
3[Option ID=21427]
4[Option ID=21428]

Sl. No.108
QBID:1021058

Karvani (F5a1) is
(A) Lot Lakara (712 &)

(B)  Uttama Purusha (379 759)
(C) Bahuvachana (@za=H)

(D) Ekavachana (T#Fa=H)

Choose the correct answer from the options given below ;
(1) A B COnly

(2) A C.D Only
(3) A B.DOnly

) B ¢ DoOnly



A=t e T fereheat # W @l I A A HIC
@ sHad A, B, C
@ FHFd A, C, D
@ ad A, B, D
w FaA B, C, D

1[Option ID=21429]
2[Option ID=21430]
3[Option ID=21431]
4[Option ID=21432]

Sl. No.109
QBID:1021059

There are no exact equivalent terms in European languages for the following:

(A) Dharma

(B) Aatma
(C) Brahma
(D) Jala

Choose the correct answer from the options given below :
(1) D Only

(2) B.C.D Only

(3) A B.C Only

(4) D.A.B Only




At wrsTt § faferfiaa for wrsgl o wweher & 27
A)  ud

(B) HTcHT

©) =

(D) S

faw o forepedt # & W ST B == i
@ el D

@ %ad B, C, D

@ ad A, B, C

@ @had D, A, B

1[Option ID=21433]
2[Option ID=21434]
3[Option ID=21435]
4[Option ID=21436]

SlI. No.110
QBID:1021060

Indentifv correct sentence/sentences.

(A) Kalidasa was the author of Meghaduta.

(B) Kalhana was the author of Rajatarangini.

(C) Chand-Bardai was the author of Prithviraj Raso.
(D)  Hala was the author of Gatha Saptashati.

Choose the correct answer from the options given below :

(1) B Only
2 ABCD
(3) C.D Only

(4) A B, COnly
TE U /HET I TgTH |

(A) ™ 3 Hugd & @ 6

(B)  wFew 4 TSAmf’ i =

(©) w-wtei 3 ‘g uE’ f wE
(D) T meEENd % dE® A1

fau 7u faedl § ¥ 98 I W T Hifw
@ %Had B
@ Had A, B, C,D



® F@C, D
(4) WA, BT

1[Option ID=21437]
2[Option ID=21438]
3[Option ID=21439]
4[Option ID=21440]

Sl. No.111
QBID:1021061

Identifv the correct sentences,

(A)
(B)

(C)
(D)

Bharata Muni propounded Rasza-siddhanta.

Dhvani-siddhanta in the context of Kavya-zhastra was propounded by
Anandavardhana.

Kuntaka developed detailed elaborations on Vakrokti.

Dandin authored Kavyadarsha.

Choose the correct answer from the options given bhelow :

(1) A Only

(2) B.C Only

3)

(4)

B. C. D Only

ABCD

g HUA/FYAT T I A

(A)
B)
(©)
D)

wia g 3 @ frgra wfaarfea foam)

FHIA-3T & Ge¥ H saf-Tfagia =1 gfqured sma=ads 3 fran
e o eIk ohl T =Tt i

2UEl FHEAEY F @ 2

fag e fomredi # & &t 3 H A HfC
@ had A

@ %ad B, C

@ had B, C, D

@ A, B,C,D

1[Option ID=21441]
2[Option ID=21442]
3[Option ID=21443]
4[Option ID=21444]

Sl. No.112
QBID:1021062
Chitrangada. the mother of Babhruvahana. belonged to __ . Identify the correct option.
(A) Manipur
(B) Nagaland
(C) Hastinapura
(D) Indraprastha

Choose the correct answer from the options given below ;

(1)
(2)

A Only



B. C Only
3) D.C Only

(4) B.C.DOnly

SyaTeT i T e = 7 9 wdt fospen A
(A) =g ofi)
(B)  Armcis i offi

(C)  afemge i o

(D)  zgwew ) o)

fiw e forpedt # & Wt I 1 = A
@ FHaA A

@ had B, C

@ wHaa D, C

@ e B, C, D

1[Option ID=21445]
2[Option ID=21446]
3[Option ID=21447]
4[Option ID=21448]

Sl. No.113
QBID:1021063

What zhould be the nature of a ‘Sutra’™?

(A) Leas number of letters.
(B) Unambiguous.

(C) Multi-dimensional.

(D)  Ambiguous.

(E) Flawless.

Choose the most appropriate answer from the options given below :

(1) A B.D.EOnly

(2) A B.C.E Only
(3) B.C.D.EOnly
(4) A.C.D.E Only

A HE1 AT A11Ee ?

(A) el i G A EE =R
(B) &=z Uea g =feu)

(C) =g g =e)

(D)  @fery g1 =fEu|

(B) grwfea g =nfeu)

feu mu foepedi # & 9o Iugw I F T Hif:
w @ad A, B, D, E




® %@ A, B,C E
@ %ad B, C, D, E

@ Hada A, C, D, E

1[Option ID=21449]
2[Option ID=21450]
3[Option ID=21451]
4[Option ID=21452]

SlI. No.114
QBID:1021064

Which three of the following texts are parts of Tripitaka?

{A) Suttapitaka

(B) Vinayapitaka

(C) Prashnapitaka

(D) Abhidhammapitaka
(E) Vyavaharpitaka

Choose the moest appropriate answer from the options given helow :

(1) A C.DOnly
(2) B.D.EOnly

(3) A.B.D Only

4) A D EOnly

faftes o &9 9 7 o9 27

A  gefies

(B) famafes
(C)  wAfres
D)  fuurmmfes
(E) =uagrfucs

i fau e el # & Fed YT IR F =TI HIAT
@ Had A, C, D
@ had B, D, E
® had A, B, D
@ $ad A, D, E

1[Option ID=21453]
2[Option ID=21454]
3[Option ID=21455]
4[Option ID=21456]

SlI. No.115
QBID:1021065



Ghati Karma in Jaina Darshan is -

(A) Gvanavaraniyva
(B) Mohaniya
(C) Namakarma

(D) Antaraya

Choose the most appropriate answer from the options given below ;

(1) A B.COnly
(2) A.B.DOnly

3) B.C.DOnly

99 239 7 Ert & 2
(A) TN

B) A

(C)  AqepH

(D) -

feu T foshedi # @ Ao IUT ST 1 T HIfC:
(1) W A BC

@ sad A, B, D
@ @&ad B, C, D

(4) %h_elFlA, . 1)

1[Option ID=21457]
2[Option ID=21458]
3[Option ID=21459]
4[Option ID=21460]

Sl. No.116
QBID:1021066

Match List I with List I

LastI Last IT
(A) Vyvakarana () Pingala
(B) Nirukta (II) Lagadha
(C) Chhanda Shastra (IIT) Panini
(D) Jvotisha (IV) Yaszka

Choose the correct answer from the options given below :
(1) (A)(IV). (By-(IID). (C)-(I). (D)-(11)

(2)  (A)(IID). (B)-(IV). (C)-(ID. (D)-(I)
(3) (AIID). (B)-(IV). (C)-(I). (D)-(II}
(4) (A)(D). (B)-(IL). (Cy-(III). (D)-(IV)



geAl-1 % |19 ge=i-11 &1 e i)

-1 =11
(A) =AHT O foga
(B) fw () <y
(C) B=aH (111) arforfH
(D) Hifey 1v) %=
el feu e forpedi # | Gl S 1 = A

@ (A)-(IV), (B)-(1D), (C)-(I), (D)-(L)
@ (A)-(IID, (B)-AV), (C)-dD), (D)-(D)
@ (A)-(III), (B)-(IV), (C)-(I), (D)-(II)
@ (A)-(D), (B)-(D), (C)-(ID), (D)-(AV)

1[Option ID=21461]
2[Option ID=21462]
3[Option ID=21463]
4[Option ID=21464]

Sl. No.117
QBID:1021067

Match List I with List IT :

Last I List IT
(A) Adhyapana (I) Pitrivajna
(B) Tarpana (II) Nrivajna
(C) Atithi Seva (III) Devavajna
(D) Homa (IV) Brahmayajna

Choose the correct answer from the options given below :
1) (A)-(IV). (B)-(I). (C)-(IIL), (D)-(II}
(2) (AMIV) (B)-(I). (C)-(I). (D)-(I1T)
3) (A)-(I). (B)-(IV). (C)-(IL). (Dy-(IIT)

(4) (A)-(IL). (B)-(III). (C)-(IV). (D)-(I)

gf- 1% = gei-11 = foem v
-1 .11

(A) 37T O fugam
(B) a4 dn J==
(C)  Afafsr Fam (1) z==3
(D) & (V) e
Hr=r feu 7o foereqi A @ g€ SO 1 999 it

@ (A)-(IV), (B)-(D), (C)-(1D), (D)-(1I)
@ (A)-(IV), (B)-(), (C)-(I), (D)-(I1T)
@ (A)-(D, (B)-AV), (C)-AD), (D)-(1L)



“ (A)-aD), (B)-(11D), (O)-AV), (D)-(D)

1[Option ID=21465]
2[Option ID=21466]
3[Option ID=21467]
4[Option ID=21468]

Sl. No.118
QBID:1021068

Match List I with List IT :

List I Last II
(A) Pramata ()" Right Enowledge
(B) Pramana (I) Enowable ohject
(C) Prameya (ITI) Process of knowing
(D) Prama (IV) Enower

Choose the correct answer from the options given below :

1) (A)-(IV). (By«(IID. (C)y«(I). (D)-(ID)
(2) (A(IV). (B)-(IID). (C)-(II). (D)-(I)

(3) (A)-(IIT). (B)-(IV). (C)-(I}. (D)-(IT}

(4) (A)(D. (By-(II). (C)-(III). (D)-(IV)

g=1-1 % @1 g=-11 =1 fee i
i1 11

(A) 9HT (H =

(B) M (1) <A 3y o
(©) W (D) ST -sfs6a
(D) wm (IV) SR are

= fou e forepredi | @ W) 3O 1 =Ad i

@ (A)-(IV), (B)-(IID), (C)-(D), (D)-(L)
@ (A)-(IV), (B)-(I1D), (C)-1D), (D)-(D)
@ (A)-(I1D), (B)-(IV), (C)-(D), (D)-(1L)
@ (A)-(D, (B)-(I), (C)-(I1D), (D)-(IV)

1[Option ID=21469]
2[Option ID=21470]
3[Option ID=21471]
4[Option ID=21472]

Sl. No.119
QBID:1021069

Match List I with List IT :

Last I Last IT
(A) Marxism (I)' European description of Bharata
(B) Structuralism (IT) Gramsci
(C) Hegemony (ITIT) Class conflict and revolution
(D) Orientalism (IV) Structures of socleties

Choose the correct answer from the options given below ;

(1) (A)-(Iy. (B)-(IL). (C)-(IIL). (D)-(IV)

() (A).IV). (B)«(IID). (C)-D). (D)«D)



(3) (AMIII). (B)-(IV). (C)-(II). (D)~(I)

(4) (A)-(IV). (B)-(IIL). (C)-(I). (D)-(IT)

-1 T 1 TER-11 1 e Fifs
g1 G-I
(A) HEHIEE @) wRa H g femo
(B) @=HAMETR (D) st
(C) === (Hegemony) (1) =riEey ud s
(D) ureFaTe (Sifieeforsn) (IV) GuTsi =6 &=
= fow 7o foreai ° @ ot 3o w1 =99 Sifvm

@ (A)-I), (B)-AD), (C)-d1D), (D)-(IV)
@ (A)-(IV), (B)-(I1I), (C)-(T), (D)-(I)
@ (A)-(I1D), (B)-IV), (O)-(1D), (D)-(I)
@ (A)-(IV), (B)-(1D), (C)-(D), (D)-(1I)

1[Option ID=21473]
2[Option ID=21474]
3[Option ID=21475]
4[Option ID=21476]

Sl. No.120
QBID:1021070

Match List I with List IT :

Last I List IT
Ay A (=) (I) Chavarga (5=7)
B I3 (I) Tavarga (797)
(Cy Lri(s) (II[) Pavarga (797)
D) U(3) (IV) Kavarga (Fa7)

Choose the correct answer from the options given below ;

1) (A)-(IV). (B)-(I). (C)-(II). (D)-(IIT)
(2) (A)-(I). (By-(IV). (C)-(III). (D)-(IT)
3) (A-IV). (B)-(I). (C)-(I1I). (D)-(IT}

(a) A)-IID. B)-ID. (O)-IV). D)-D)

TeAt-1 % a19 g=i-11 =1 e Fifa
H\?ﬁ-l 'FE-ﬁ-H
A) = D =t
®) 3 (I) @t
© g (III) ua
D) 3 AV) et
i feu Tu fareat @ @ 9 3 = w=A hifw

' (A)-IV), (B)-(D), (C)-(10), (D)-(I1T)



@ (A)-(I), (B)-AV), (C)-(I1D), (D)-(1I)
@ (A)-(IV), (B)-(D), (C)-(I1I), (D)-(II)
@ (A)-(ITT), (B)-(I1), (C)-(IV), (D)-()

1[Option ID=21477]
2[Option ID=21478]
3[Option ID=21479]
4[Option ID=21480]

Sl. No.121
QBID:1021071

Which of the following iz Avyayvibhava (¥=749d) Samasa (FHH) ?
(A) Hastapadam (F=715H)

(B)  Anurupam (#7579

(C) Hariharau (zf=i)

(D) Upangam (397549

Choose the correct answer from the options given below :

(1) (B). D)
(2) (B). (C)
3) (A D)
4) (C). (D

el 9919 2 -

(A)  T=HRH

(B) e
© =&

D) 3T

e fiw, e et # & T 3w o AR
@ (B), (D)

@ (B), (C)

@ (A), (D)

@ (C), (D)

1[Option ID=21481]
2[Option ID=21482]
3[Option ID=21483]
4[Option ID=21484]

Sl. No.122
QBID:1021072




The following cazes ( IEE i ') are present in the Pratyvahara in the Sutra, Tko vanachi’ {m B ).

(A)  Shashthi (781
(B)  Prathama (73H1)
(C)  Saptami (79

(D)  Tritiya (&)

Choose the correct answer from the options given below :
(1) (A).(C). (D)
(2) (B). (O (D)
3) (A (B).(C)

@) (A (B). (D)

‘Tl AU - 39 g H W IR § A fovfe g -

a4 wEl
(B) 9T
(C) @y

(D) efre

fra fou o forehet # & @& 3T &1 w=F fife
@ (A), (C), (D)
@ (B), (C), (D)

@ (A), (B), (C)
@ (A), (B), (D)

1[Option ID=21485]
2[Option ID=21486]
3[Option ID=21487]
4[Option ID=21488]

Sl. No.123
QBID:1021073

Match List I with List IT :

ListI List II
(A) Tiruvalluvar () Suraszagar
(B) Tulsidas (IT) Beejak
(C) Kabir (IIT) Ramacharitamanasa
(D) Surdas (IV) Tirukkurul

Choose the correct answer from the options given below :



(1)  (A-(IV). (B)-(III). (C)-(IL). (D)-(I)
(2) (A)-(IV). (B)-(II). (C)-(I). (D)-(IIT)
(3) (A)-(IV). (B)-(I). (C)-(II). (D)-(III)

(4) (A)-IID. (B)-(IV). (C)-(D). (D)-(II)

gA-1% Ty g=A-11 1 foem Aifse .
eI eI

(A) foeegm O FER
(B) qoEteE (11) e

(C) =R (I1I) TH=REEEg
(D) ™ (IV) feregeer
H9 feu o foepedl # @ @t 3o *1 == IR

@ (A)-AV), (B)-1D), (C)-AD), (D)-(D)
@ (A)-(IV), (B)-(I), (C)-(D), (D)-(I1I)
@ (A)-(IV), (B)-(D), (O)-1D), (D)-(ILL)
@ (A)-(I1D), (B)-AV), (C)-D), (D)-AD)

1[Option ID=21489]
2[Option ID=21490]
3[Option ID=21491]
4[Option ID=21492]

Sl. No.124
QBID:1021074

Match List I with List IT :

List I ListIT
(A) Rajaniti-Shastra (' Gopi-Uddhava Samvada
(By Darzhana (II) Ramayvana
(C) Bhakti (III) Phisma-Yudhisthira Samvada
(D) TItihasza (IV) Bhagavadgzita

Choose the correct answer from the options given below ;
(1) (A)-(D. (B)-(II). (C)-(IIL). (D)-(IV)
(2) (A)-(IV). (B)-(II). (C)-(I). (D)-(IIIy
(3) (AMIV). (By-(I), (C)-(IL). (D)-(IIT)

(4) (A)(IID. (B)-(IV). (Cy-(I), (D)-(II)



g=A-1 % a1y ge-11 &1 frem fifso

(A)
(B)
(©)
(D)

-1
0 -3 FaT
an  TEEm
(I1D)  fiee—-ffen e
(V) s

Hrr feu o foeredi 9 @ @ s o == il

@ (A)-(D), (B)-1I), (C)-(1D), (D)-IV)
@ (A)-IV), (B)-(D, (C)-(1), (D)-(LI)
@ (A)-(IV), (B)-D), (C)-(1D), (D)-LI)
@ (A)-(LID), (B)-(IV), (O)-(D), (D)-(1I)

1[Option ID=21493]
2[Option ID=21494]
3[Option ID=21495]
4[Option ID=21496]

Sl. No.125
QBID:1021075

Match List I with List IT :

(4a)
(B}
(C)
(D)

ListI

Pudgala
Pratityasamutpada
Vaisheshika
Ashtanga Yoga

Last IT
(I Bauddha Darzhana
(II) Kanada
(III) Patanjali

(IV) dJaina Darshana

Choose the correct answer from the options given below ;

(1) (A (By-(IV). (C)-(I1II). (D)-(II)
(2) (A)-(IV). (B)-(I). (C)-(II). (D)-(IIT)

(3) (AN, (B)-(IV). (C)-(II). (D)-(I)

(4) (A)-IV). (B)-(I). (C)-(III). (D)-(II)

-1 w1y g=i-11 1 fiee Hife

(A)
(B)
(€
(D)

g1
T

Y icagHqeaTg
ERIbED

T I

gt 11
O gA
(I) =g
(11D wasiter
IV) S &=

Hat fou o faeeeai | & @& S 1 =9 S

@ (A)-(D), (B)-(IV), (C)-1I), (D)-(1L)
@ (A)-(IV), (B)-(D), (O)-(11), (D)-(ILL)

3)



(A)-(I1D), (B)-AV), (C)-aD, (D)-(D)
@ (A)-(IV), (B)-(D), (C)-(I1D), (D)-(1I)

1[Option ID=21497]
2[Option ID=21498]
3[Option ID=21499]
4[Option ID=21500]

Sl. No.126
QBID:1021076

Arrange the following Samskaras in order of their occurance in one's life.

(A) Punsavana
(B) Upanayana
(C) Namakarana
(D) Vivaha

Choose the correct answer from the options given below :
1) (A (B (C). (D)
(2) (A). (O). (B). (D)
(3) (A) (B). (D). (C)

(@) (A). (D). (B).(C)

e o afeqd e & w9 ° afaiad el = FHeg S

A)  gE

(B) 394I4

(C) =R

(D) foar=

2 fo e forshed # & w1 9o B W I
o (A), (B), (C), (D)

@ (A), (C), (B), (D)

@ (A), (B), (D), (C)

@ (A), (D), (B), (C)

3[Option ID=21503]
4[Option ID=21504]

Sl. No.127
QBID:1021077




Arrange the following in order of their occurance in the second chapter of the Bhagavadgita.

(A) Anger (Krodha)

(B) Attachment (Aasalkti)

(C) Delusion (Moha)

(D) Memory Loss (Smriti Vibhrama)

(E) Loss of decision making power (Budhi Nasha)

Choose the correct answer from the options given below :

1) (B (A). (C). (D). (E)

(2) (A (B (D). (C). (E)

@  (®). (). D). (). @A)
@ (®). ®). D) (). @

Wegrd & fgedta e % smun W Smfafad &1 ey @ = @ @1 s Fuifa Fif
A wH

(B)  armEf®

(O

(D)  wifa favm

(B)  gfgm

et fow my ferehedt § @ @l IO T W KT

@ (B), (A), (O), (D), (E)

@ (A), (B), (D), (C), (E)

@ (B), (C), (D), (E), (A)

@ (E), (B), (D), (C), (A)

1[Option ID=21505]
2[Option ID=21506]
3[Option ID=21507]
4[Option ID=21508]

Sl. No.128
QBID:1021078

Arrange the following shadvidh-lingas in the right sequence as per Tatparvanirnaya.
(A) Linga

(B) Shruti

(C) Prakarana

(D) Vakyva

(E) Samalkhya

Choose the correct answer from the options given below :

(1)



(A). (B). (D). (C). (E)
(2) (Bl (A (D) (C). (E)
(3) (Bl (A (D). (E). (C)

4) (B). (D). (E). (A). (C)

areqd favta & wefrg Rl o @ %9 2 -
@ fag
B) g

(C) SETU
(D) Elce|
(E) HHEAT

A9 o e forshed] 3 & e St B W A
@ (A), (B), D), (O), (E)
@ (B), (A), (D), (O), (E)
@ (B), (A), (D), (B), (C)
@ (B), (D), (E), (A), (C)

1[Option ID=21509]
2[Option ID=21510]
3[Option ID=21511]
4[Option ID=21512]

Sl. No.129
QBID:1021079

Arrange the following from the ancient to the modern:-

(A) Veda

(B) Mahabharata

() Valmiki Ramayvana
(D) Ramacharitamanasza

(E) Kadambari

Choose the correct answer from the options given below :

1) (A (B (C). (E). (D)

2 (B). (C) (A). (D). (E)
3) (AL (C) (B). (E)L (D)

4) (A).(C).(B). (D). (E)




fr=fefaa =1 wria @ Fdim 7 = @@ 9 ° W -

@A

(B)  wWeMRa

(C)  aTcHifR THR
(D)  TwEEEEE
B e

fra fau o el # @ wel 3R w1 =T AR
@ (A), (B), (C), (E), (D)
@ (B), (C), (A), (D), (E)
@ (A), (O), (B), (), (D)

@ (A), (C), (B), (D), (E)

1[Option ID=21513]
2[Option ID=21514]
3[Option ID=21515]
4[Option ID=21516]

Sl. No.130
QBID:1021080

Sequence the following names in order of their births, the earliest being the first,
(A) Dayvananda Saraswatl
(B) Ramanujacharya
(C) Bhartrihari
(D) Nagarjuna
Choose the correct answer from the options given below :
1) (D). (B (C). (&)
(2) (D) (C) (B (A)
(3) (Ch (D (B). (A)

@ Q. ®). (). D



frferfiaa safal @ 39l SAfafY % THaR Fueg # (Y90 70 ¥ I *) -

(&) T
(B)  THRESEE
(C) el

(D) A

3 Fow u fedt § @ G I B A R :
@ (D), B), (C), (A)
@ (D), (C), (B), (A)
@ (C), (D), (B), (A)
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2[Option ID=21518]
3[Option ID=21519]
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Arrange the following in correct sequence, starting from the earliest to the most recent one.

(A) Marxism

(B) Vedas

(C) Post-structuralism
(D) Panini's grammar

(E) Structuralism

Choose the correct answer from the options given below :
1) (A (E).(C).(B). (D

2) (B). (D). (A). (E). (O)

3) (B). (A). (E). (C). (D)

4) (By (E). (A). (C). (D)
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1[Option ID=21521]
2[Option ID=21522]
3[Option ID=21523]
4[Option ID=21524]
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Arrange the following Rishis in order of Shri Rama's meeting with them during the

Vanavasa.

(A) Agastya

(B) Sharabanga

(C)  Atn

(D) Bharadwaja

Choose the correct answer from the options given below :
1) (A (B). (C). (D)

(2) (D). (C) (B). (A)

3) (B (O). (A (D)

(4) (C).(B). (A). (D)
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©
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Hr= feu o faepedi ° @ @) 3O W ==a i

o (A), (B), (C), D)
@ (D), (C), (B), (A)
@ (B), (C), (A), D)
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1[Option ID=21525]
2[Option ID=21526]
3[Option ID=21527]
4[Option ID=21528]
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Arrange the following sections of Ramayana chronologically. the earliest being the first.

(A) Bala-Kanda
(B) Ayvodhya-Kanda
(C) Aranya-Kanda

(D) Yuddha-Kanda

Choose the correct answer from the options given below :

1) (C). (D). (A). (B)

2) (D). (B). (C). (A)

3) (A (B (C). (D)

(4) (B). (C). (A). (D)
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(A)  dTAHIS
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(C) IS
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w (C), (D), (A), (B)

@ (D), (B), (C), (A)

@ (4), (B), (O), D)
@ (B), (O), (A), (D)

1[Option ID=21529]
2[Option ID=21530]
3[Option ID=21531]
4[Option ID=21532]

Sl. No.134
QBID:1021084

Sequence the names. from the eldest to the voungest:

(A) Shantanu

(B) Vichitravirya
(C) Pandu

(D)  Abhimanyu

(E) Janamejava

Choose the correct answer from the options given below :
1) (B). (C). (D). (E). (A)
(2) (D). (A). (B). (C). (E)

3) (AL (B).(C). (D). (E}

@) (O D). (E). A). B
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@ (D), (A), (B), (C), (E)
@ (A), (B), (O), (D), (E)
@ (C), (D), (B), (A), (B)

1[Option ID=21533]
2[Option ID=21534]
3[Option ID=21535]
4[Option ID=21536]

Sl. No.135
QBID:1021085

Order the following names chronologically. the earliest name first.
(A) Shankaracharva
(B) Valmiki
(C)  Tulsidasa
(D) Vyaza
Choose the correct answer from the options given below :
1) (D). (B). (C). (A)
2 (D) (B). (4).(O)

(3) (B). (D). (A (C)

(4) (B). (D). (C). (A)



e 1 9 3P W gu FEferiad A sHEar faw -
(A  TETE
(B)  arcHife
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@ (D), (B), (O), (A)
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@ (B), (D), (C), (A)

1[Option ID=21537]
2[Option ID=21538]
3[Option ID=21539]
4[Option ID=21540]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A):  ‘Matih (®f:) is feminine gender and Tkaranta (zm=)
Reasonz (R) : All Tkaranta words are feminine gender.

In the light of the above statements. choose the Correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (4)

(3) (A)istrue but (R) is incorrect.

(4) (A) 1s false but (R) 1s correct

1< 31 Fom fu T : U AlEeA (Assertion (A)) % &9 H fafld @ a1 g0 39% FRW (Reasons (R))
FEIH :

AR (A) “wfe:” s g #ifem vz 2
FT (R) : gl T g2 Eifer 2 2

i o & 3Tl H, Hie feu e fawedi ° @ g 3w 1 wwa A
" (A) 3it (R) 3 Te 3l (R), (A) i G s 2



@ (A) 3R (R) 21 &ed &, Al (R), (A) 1 @l =sarean 18 &
@ (A) 9 %, RIS R) gl &l %

@ (A) I9A %, IET! (R) &t ?

1[Option ID=21541]
2[Option ID=21542]
3[Option ID=21543]
4[Option ID=21544]
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Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A):  According to Vedanta a person becomes fearless after Brahmanubhuti.
Reasons (R) : Brahman 1 divisionless and without a second. So. why should one fear the

other. if there is no second?

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (4)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)

(3) (A)is correct but (R) is not correct

(4) (A) is not correct but (R) is correct
1= 31 %em fau g @ U fimed (Assertion (A)) % %9 H fafga 2 @1 gE0 3% FWUT (Reasons (R))
FEIH :

AR (A):  dE % IR SR § =t werfEa & S B

% (R) : & STEvE 2| gEU B @ A At v fee e

3T HY o IEAH H, T U T Tt § ¥ A9 3UgH I R T Hifeg

@ (A) 3 (R) 3 @& § =it (R), (A) Fi @ = @
@ (A) 3R (R) 2H1 @&l &, dfF (R), (A) i @&l =amen & &
@ (A) T8 2, AfF (R) T8 781 2

4) (A)H%D[:lﬁ%, NIET] (R)‘Hﬁ%

1[Option ID=21545]
2[Option ID=21546]
3[Option ID=21547]
4[Option ID=21548]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Raja Janaka wanted Sita to marry a person who was capable of lifting the
bow of Shiva.

Reaszonz (R) : Janaka put this condition to ensure that the groom would match Sita in her

abilities because Sita used to lift the bow of Shiva daily by her left hand.
In the light of the above statements. choose the most appropriate correct answer from the
options given below :
(1)  Both (A) and (R) are correct and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A)is correct but (R) 1= not correct

(4) (A) 1= not correct but (R) 1= correct

2 2 o R e E ;o fiEreT (Assertion (A) % &9 # faflad 2 & gau 8% F00 (Reasons (R))
FEIY :
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S e % el A, 99 Re e B § 2w 3v 3w A A
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® (A) 3R (R) 3H1 @& & A (R), (A) i =&t =z 4 @
@ (A)"é ? Al (R) o8 781 2

@ (A) g& 78 2 dfe (R) w1 2

1[Option ID=21549]
2[Option ID=21550]
3[Option ID=21551]
4[Option ID=21552]

Sl. No.139
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Given below are two statements :

Statement I : Marxists envision a society which has the dictatorship of workers,

Statement IT : Marxists envision a society where workers and capitalists work together

and co-exist peacefully.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are falzse

(3) Statement I is true but Statement II 1s false

(4) Statement Iis false but Statement IT is true



fr= & e fog o -
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1[Option ID=21553]
2[Option ID=21554]
3[Option ID=21555]
4[Option ID=21556]
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Given below are two statements :

Statement I The Upanishadic statement ‘Sarvam khalvidam Brahma indicates

oneness in all.

Statement IT ‘Aham Bramhasmi’ is the Mahavakya of Vedanta.

In the light of the above statements, choose the most appropriate answer from the options

given below :
(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement Iis correct but Statement I 1s incorrect

(4) Statement I is incorrect but Statement IT 1= correct

= 2w few g §

Fg1:  Iufg # 9 W @fcas s’ AT S e 2

#U9 I[1: ‘oA sanfen’ dg=d = HeEEd 2l

3T HU & A A, e G e fameut # & we@ Suge S o w9 i
@ e [ 3 11 e+ 981 8

(2)
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1[Option ID=21557]
2[Option ID=21558]
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Read the following passage carefully; and answer the questions.

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

Dialogue between Yaksha & Yudhisthira

What is greater than Prithvi? What is higher than Akasha? What moves
faster than Vayu (wind)? And what exceeds grass particles in number?

Mother is greater than the earth. Father is higher than the sky. Mana
moves faster than Vayu. And, our concerns (Chinta) exceed in number
than grass particles.

Who i1s the friend of a person going abroad? Who is the friend of a person
living at home? Who is the friend of a patient? And who is the friend of a
person on death bed?

Co-traveller is the friend of a person going abroad. Wife is the friend of a
person living at home. A physician is the friend of a patient and Dana is
the friend of a Mumurshu (a person about to die).

Who is the guest of all living beings, and what is Sanatana Dharma?
What is Amrita (Nector)? And what is the universe?

Agni is the guest of all living beings. Cow’s milk is Nector. The
indestructible Nityadharma is Sanatana Dharma and Vayu (1) is the

Universe.

What is the best attribute of a blessed person? What is the supreme
wealth? What is the ultimate advantage and the ultimate happiness?

Proficiency is the best virtue amongst blessed persons. Knowledge of
Shastras 1s the most important wealth. Wellness takes precedence over
all other advantages. Contentment is the ultimate happiness.

Why do we offer Dana to a Brahmana? And why are artistes given
Dana? What is the purpose of giving Dana to employees? Why do we
offer Dana to the king?

Brahmanas are offered Dana for the purpose of Dharma. Artists are
conferred upon awards (Dana) for fame. Employees are given Dana
(salary) for their sustenance. And the king 1s given Dana (taxes) due to
fear.

Which type of a person is considered ‘dead? Which Rashtra is
considered ‘dead’? Which type of Shradha is dead and what makes a
Yajna dead?

A pauper may be considered dead. A state devoid of its king is dead.
Shradha happens to lose its relevance in the absence of a shrotriya
brahmana and Yajna is ineffective if no Dakshina is given.
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In the preceding passage. which of the following 1s not mentioned as a friend.

(1) Dana

2) Co-traveller

(3) Physician

(a) King

3yt ey # foreent i & w9 # 3g@ E 27

@ N1

1[Option ID=21561]
2[Option ID=21562]
3[Option ID=21563]
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Read the following passage carefully; and answer the questions.

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

Dialogue between Yaksha & Yudhisthira

What is greater than Prithvi? What is higher than Akasha? What moves
faster than Vayu (wind)? And what exceeds grass particles in number?

Mother is greater than the earth. Father is higher than the sky. Mana
moves faster than Vayu. And, our concerns (Chinta) exceed in number
than grass particles.

Who i1s the friend of a person going abroad? Who is the friend of a person
living at home? Who is the friend of a patient? And who is the friend of a
person on death bed?

Co-traveller is the friend of a person going abroad. Wife is the friend of a
person living at home. A physician is the friend of a patient and Dana is
the friend of a Mumurshu (a person about to die).

Who is the guest of all living beings, and what is Sanatana Dharma?
What is Amrita (Nector)? And what is the universe?

Agni is the guest of all living beings. Cow’s milk is Nector. The
indestructible Nityadharma is Sanatana Dharma and Vayu (1) is the

Universe.

What is the best attribute of a blessed person? What is the supreme
wealth? What is the ultimate advantage and the ultimate happiness?

Proficiency is the best virtue amongst blessed persons. Knowledge of
Shastras 1s the most important wealth. Wellness takes precedence over
all other advantages. Contentment is the ultimate happiness.

Why do we offer Dana to a Brahmana? And why are artistes given
Dana? What is the purpose of giving Dana to employees? Why do we
offer Dana to the king?

Brahmanas are offered Dana for the purpose of Dharma. Artists are
conferred upon awards (Dana) for fame. Employees are given Dana
(salary) for their sustenance. And the king 1s given Dana (taxes) due to
fear.

Which type of a person is considered ‘dead? Which Rashtra is
considered ‘dead’? Which type of Shradha is dead and what makes a
Yajna dead?

A pauper may be considered dead. A state devoid of its king is dead.
Shradha happens to lose its relevance in the absence of a shrotriya
brahmana and Yajna is ineffective if no Dakshina is given.
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How has Sanatan Dharma been defined in the preceding passage?
(1) Praying in the mandiras,
(2) Indestructible Nitvadharma.

(3) Yajna and tarpana.

(4) Dana and dakshina.
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Read the following passage carefully; and answer the questions.

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

Dialogue between Yaksha & Yudhisthira

What is greater than Prithvi? What is higher than Akasha? What moves
faster than Vayu (wind)? And what exceeds grass particles in number?

Mother is greater than the earth. Father is higher than the sky. Mana
moves faster than Vayu. And, our concerns (Chinta) exceed in number
than grass particles.

Who i1s the friend of a person going abroad? Who is the friend of a person
living at home? Who is the friend of a patient? And who is the friend of a
person on death bed?

Co-traveller is the friend of a person going abroad. Wife is the friend of a
person living at home. A physician is the friend of a patient and Dana is
the friend of a Mumurshu (a person about to die).

Who is the guest of all living beings, and what is Sanatana Dharma?
What is Amrita (Nector)? And what is the universe?

Agni is the guest of all living beings. Cow’s milk is Nector. The
indestructible Nityadharma is Sanatana Dharma and Vayu (1) is the

Universe.

What is the best attribute of a blessed person? What is the supreme
wealth? What is the ultimate advantage and the ultimate happiness?

Proficiency is the best virtue amongst blessed persons. Knowledge of
Shastras 1s the most important wealth. Wellness takes precedence over
all other advantages. Contentment is the ultimate happiness.

Why do we offer Dana to a Brahmana? And why are artistes given
Dana? What is the purpose of giving Dana to employees? Why do we
offer Dana to the king?

Brahmanas are offered Dana for the purpose of Dharma. Artists are
conferred upon awards (Dana) for fame. Employees are given Dana
(salary) for their sustenance. And the king 1s given Dana (taxes) due to
fear.

Which type of a person is considered ‘dead? Which Rashtra is
considered ‘dead’? Which type of Shradha is dead and what makes a
Yajna dead?

A pauper may be considered dead. A state devoid of its king is dead.
Shradha happens to lose its relevance in the absence of a shrotriya
brahmana and Yajna is ineffective if no Dakshina is given.
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Which of the following has not been mentioned in the preceding passage.

(1) Tax

(2) Reward

(3) Bribe

(4) Salarvy
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Read the following passage carefully; and answer the questions.

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

Dialogue between Yaksha & Yudhisthira

What is greater than Prithvi? What is higher than Akasha? What moves
faster than Vayu (wind)? And what exceeds grass particles in number?

Mother is greater than the earth. Father is higher than the sky. Mana
moves faster than Vayu. And, our concerns (Chinta) exceed in number
than grass particles.

Who i1s the friend of a person going abroad? Who is the friend of a person
living at home? Who is the friend of a patient? And who is the friend of a
person on death bed?

Co-traveller is the friend of a person going abroad. Wife is the friend of a
person living at home. A physician is the friend of a patient and Dana is
the friend of a Mumurshu (a person about to die).

Who is the guest of all living beings, and what is Sanatana Dharma?
What is Amrita (Nector)? And what is the universe?

Agni is the guest of all living beings. Cow’s milk is Nector. The
indestructible Nityadharma is Sanatana Dharma and Vayu (1) is the

Universe.

What is the best attribute of a blessed person? What is the supreme
wealth? What is the ultimate advantage and the ultimate happiness?

Proficiency is the best virtue amongst blessed persons. Knowledge of
Shastras 1s the most important wealth. Wellness takes precedence over
all other advantages. Contentment is the ultimate happiness.

Why do we offer Dana to a Brahmana? And why are artistes given
Dana? What is the purpose of giving Dana to employees? Why do we
offer Dana to the king?

Brahmanas are offered Dana for the purpose of Dharma. Artists are
conferred upon awards (Dana) for fame. Employees are given Dana
(salary) for their sustenance. And the king 1s given Dana (taxes) due to
fear.

Which type of a person is considered ‘dead? Which Rashtra is
considered ‘dead’? Which type of Shradha is dead and what makes a
Yajna dead?

A pauper may be considered dead. A state devoid of its king is dead.
Shradha happens to lose its relevance in the absence of a shrotriya
brahmana and Yajna is ineffective if no Dakshina is given.
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As per the preceding passage. "mana’ moves faster than “vayvu™ (wind) why?

(1) While "mana” is related to the heart. “vayu” is related to the “breath”.

While “mana” can reach anyvwhere instantly. the wind (vayu) takes a finite time to

2 T ;
S travel a specified distance.

(3) "Mana” and heart-beat are inter-related.
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Read the following passage carefully; and answer the questions.

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

YAKSHA

YUDHISHTHIR :

Dialogue between Yaksha & Yudhisthira

What is greater than Prithvi? What is higher than Akasha? What moves
faster than Vayu (wind)? And what exceeds grass particles in number?

Mother is greater than the earth. Father is higher than the sky. Mana
moves faster than Vayu. And, our concerns (Chinta) exceed in number
than grass particles.

Who i1s the friend of a person going abroad? Who is the friend of a person
living at home? Who is the friend of a patient? And who is the friend of a
person on death bed?

Co-traveller is the friend of a person going abroad. Wife is the friend of a
person living at home. A physician is the friend of a patient and Dana is
the friend of a Mumurshu (a person about to die).

Who is the guest of all living beings, and what is Sanatana Dharma?
What is Amrita (Nector)? And what is the universe?

Agni is the guest of all living beings. Cow’s milk is Nector. The
indestructible Nityadharma is Sanatana Dharma and Vayu (1) is the

Universe.

What is the best attribute of a blessed person? What is the supreme
wealth? What is the ultimate advantage and the ultimate happiness?

Proficiency is the best virtue amongst blessed persons. Knowledge of
Shastras 1s the most important wealth. Wellness takes precedence over
all other advantages. Contentment is the ultimate happiness.

Why do we offer Dana to a Brahmana? And why are artistes given
Dana? What is the purpose of giving Dana to employees? Why do we
offer Dana to the king?

Brahmanas are offered Dana for the purpose of Dharma. Artists are
conferred upon awards (Dana) for fame. Employees are given Dana
(salary) for their sustenance. And the king 1s given Dana (taxes) due to
fear.

Which type of a person is considered ‘dead? Which Rashtra is
considered ‘dead’? Which type of Shradha is dead and what makes a
Yajna dead?

A pauper may be considered dead. A state devoid of its king is dead.
Shradha happens to lose its relevance in the absence of a shrotriya
brahmana and Yajna is ineffective if no Dakshina is given.
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Which of the following has not been characterized as a superior virtue in the preceding
passage:

(1) Good health

(2) Contentment
(3) Proficiency
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Read the following passage and answer the following questions.

At Chitrakuta hill, Bharata reached the parnashala (hut made of hay and leaves) which was
pure like ashramas of ascetics, and where Shri Rama Chandraji was staying with his brother

Lakshmana and wife Sita.

Upon glancing brother Shri Rama, Kaikeyi’'s son Bharata got struck by grief and became
delusional, Shri Rama got hold of his brother Bharata and hugged him. Shri Ram enlapped
Bharata, the jewel of Raghukula, and asked him with great affection - ‘Dear brother! Why
have you come to the forest? Maharaja 1s alive, isn’'t he? Or did he become extremely sad and
suddenly left for the heavenly abode, and that is why you had to come here? Brother, you are
still a child, I hope that your kingdom has not been destroyed? Is Mother Kausalya fine? Is
Mother Sumitra, who has borne the best children, happy? And what about the noble Kaikeyi
Devi? O brother, do you honour the Devas, ancestors, servants, gurus, elders — who are as

venerable as our father, doctors and Brahmanas?

Do you honour Acharya Sudhanva who is a good scholar of politics and who knows how to use
the finest arrows without Mantras and the best arms with Mantras? Brother, have you
appointed only those as ministers who are as brave, scholarly, in control of their senses,

noble, and able to understand the mind with external efforts, as you are?

Raghunandana! Sound advice is the principal reason underlying a king’s victory. Such advice
bears fruit only when the Prime Minister, who is the crest jewel of the Cabinet, and an expert
in strategy and policy-making, keeps such advice top secret. Do you contemplate on complex
problems all by yourself? Or do you discuss such matters with too many people? Or is it that
your secret decisions get leaked to enemy states? Do you prefer a single intelligent expert over
thousands of foolish advisors, For it is only an intelligent and expert advisor who can provide
deliverance in times of acute economic crisis. Do you provide sufficient allowance for your
soldiers on a timely basis? Bharata! Have you appointed ambassadors who are natives of our
own country, scholars, skillful, talented, can communicate exactly to others as directed, and
who can differentiate between the real and the unreal? Do you avoid harming Dharma by
Artha and Artha by Dharma? Do you allocate your time suitably for purposes of Dharma,
Artha and Kama?
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How did Bharata react upon seeing Rama in the attire of a forest-dweller?

(1)  His joy knew no bounds.
(2) He was stunned.

(3) He became very sad and gzot delusional.

(4) He started looks at Sri Rama without any negative emotions.
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Read the following passage and answer the following questions.

At Chitrakuta hill, Bharata reached the parnashala (hut made of hay and leaves) which was
pure like ashramas of ascetics, and where Shri Rama Chandraji was staying with his brother

Lakshmana and wife Sita.

Upon glancing brother Shri Rama, Kaikeyi’'s son Bharata got struck by grief and became
delusional, Shri Rama got hold of his brother Bharata and hugged him. Shri Ram enlapped
Bharata, the jewel of Raghukula, and asked him with great affection - ‘Dear brother! Why
have you come to the forest? Maharaja 1s alive, isn’'t he? Or did he become extremely sad and
suddenly left for the heavenly abode, and that is why you had to come here? Brother, you are
still a child, I hope that your kingdom has not been destroyed? Is Mother Kausalya fine? Is
Mother Sumitra, who has borne the best children, happy? And what about the noble Kaikeyi
Devi? O brother, do you honour the Devas, ancestors, servants, gurus, elders — who are as

venerable as our father, doctors and Brahmanas?

Do you honour Acharya Sudhanva who is a good scholar of politics and who knows how to use
the finest arrows without Mantras and the best arms with Mantras? Brother, have you
appointed only those as ministers who are as brave, scholarly, in control of their senses,

noble, and able to understand the mind with external efforts, as you are?

Raghunandana! Sound advice is the principal reason underlying a king’s victory. Such advice
bears fruit only when the Prime Minister, who is the crest jewel of the Cabinet, and an expert
in strategy and policy-making, keeps such advice top secret. Do you contemplate on complex
problems all by yourself? Or do you discuss such matters with too many people? Or is it that
your secret decisions get leaked to enemy states? Do you prefer a single intelligent expert over
thousands of foolish advisors, For it is only an intelligent and expert advisor who can provide
deliverance in times of acute economic crisis. Do you provide sufficient allowance for your
soldiers on a timely basis? Bharata! Have you appointed ambassadors who are natives of our
own country, scholars, skillful, talented, can communicate exactly to others as directed, and
who can differentiate between the real and the unreal? Do you avoid harming Dharma by
Artha and Artha by Dharma? Do you allocate your time suitably for purposes of Dharma,
Artha and Kama?
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Which type of questions did Sr1 Rama ask Bharata?

(1)  Family-related
(2) Statecraft-related

(3) Rajadharma - related

(4) All of the above.
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Read the following passage and answer the following questions.

At Chitrakuta hill, Bharata reached the parnashala (hut made of hay and leaves) which was
pure like ashramas of ascetics, and where Shri Rama Chandraji was staying with his brother

Lakshmana and wife Sita.

Upon glancing brother Shri Rama, Kaikeyi’'s son Bharata got struck by grief and became
delusional, Shri Rama got hold of his brother Bharata and hugged him. Shri Ram enlapped
Bharata, the jewel of Raghukula, and asked him with great affection - ‘Dear brother! Why
have you come to the forest? Maharaja 1s alive, isn’'t he? Or did he become extremely sad and
suddenly left for the heavenly abode, and that is why you had to come here? Brother, you are
still a child, I hope that your kingdom has not been destroyed? Is Mother Kausalya fine? Is
Mother Sumitra, who has borne the best children, happy? And what about the noble Kaikeyi
Devi? O brother, do you honour the Devas, ancestors, servants, gurus, elders — who are as

venerable as our father, doctors and Brahmanas?

Do you honour Acharya Sudhanva who is a good scholar of politics and who knows how to use
the finest arrows without Mantras and the best arms with Mantras? Brother, have you
appointed only those as ministers who are as brave, scholarly, in control of their senses,

noble, and able to understand the mind with external efforts, as you are?

Raghunandana! Sound advice is the principal reason underlying a king’s victory. Such advice
bears fruit only when the Prime Minister, who is the crest jewel of the Cabinet, and an expert
in strategy and policy-making, keeps such advice top secret. Do you contemplate on complex
problems all by yourself? Or do you discuss such matters with too many people? Or is it that
your secret decisions get leaked to enemy states? Do you prefer a single intelligent expert over
thousands of foolish advisors, For it is only an intelligent and expert advisor who can provide
deliverance in times of acute economic crisis. Do you provide sufficient allowance for your
soldiers on a timely basis? Bharata! Have you appointed ambassadors who are natives of our
own country, scholars, skillful, talented, can communicate exactly to others as directed, and
who can differentiate between the real and the unreal? Do you avoid harming Dharma by
Artha and Artha by Dharma? Do you allocate your time suitably for purposes of Dharma,
Artha and Kama?
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According to Shri Rama. an ambassador should not have which of the following attributes?
(1) A resident of his native country.

(2) Learned. efficient and talented.

(3) One who does not confer with the king.

(4) Capable enough to make statements to others as directed.
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Read the following passage and answer the following questions.

At Chitrakuta hill, Bharata reached the parnashala (hut made of hay and leaves) which was
pure like ashramas of ascetics, and where Shri Rama Chandraji was staying with his brother

Lakshmana and wife Sita.

Upon glancing brother Shri Rama, Kaikeyi’'s son Bharata got struck by grief and became
delusional, Shri Rama got hold of his brother Bharata and hugged him. Shri Ram enlapped
Bharata, the jewel of Raghukula, and asked him with great affection - ‘Dear brother! Why
have you come to the forest? Maharaja 1s alive, isn’'t he? Or did he become extremely sad and
suddenly left for the heavenly abode, and that is why you had to come here? Brother, you are
still a child, I hope that your kingdom has not been destroyed? Is Mother Kausalya fine? Is
Mother Sumitra, who has borne the best children, happy? And what about the noble Kaikeyi
Devi? O brother, do you honour the Devas, ancestors, servants, gurus, elders — who are as

venerable as our father, doctors and Brahmanas?

Do you honour Acharya Sudhanva who is a good scholar of politics and who knows how to use
the finest arrows without Mantras and the best arms with Mantras? Brother, have you
appointed only those as ministers who are as brave, scholarly, in control of their senses,

noble, and able to understand the mind with external efforts, as you are?

Raghunandana! Sound advice is the principal reason underlying a king’s victory. Such advice
bears fruit only when the Prime Minister, who is the crest jewel of the Cabinet, and an expert
in strategy and policy-making, keeps such advice top secret. Do you contemplate on complex
problems all by yourself? Or do you discuss such matters with too many people? Or is it that
your secret decisions get leaked to enemy states? Do you prefer a single intelligent expert over
thousands of foolish advisors, For it is only an intelligent and expert advisor who can provide
deliverance in times of acute economic crisis. Do you provide sufficient allowance for your
soldiers on a timely basis? Bharata! Have you appointed ambassadors who are natives of our
own country, scholars, skillful, talented, can communicate exactly to others as directed, and
who can differentiate between the real and the unreal? Do you avoid harming Dharma by
Artha and Artha by Dharma? Do you allocate your time suitably for purposes of Dharma,
Artha and Kama?
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A minister is not supposed to be:

(1) Brave
(2) Learned

(3) Incapable of learning about others.

(4) Self-controlled
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Read the following passage and answer the following questions.

At Chitrakuta hill, Bharata reached the parnashala (hut made of hay and leaves) which was
pure like ashramas of ascetics, and where Shri Rama Chandraji was staying with his brother

Lakshmana and wife Sita.

Upon glancing brother Shri Rama, Kaikeyi’'s son Bharata got struck by grief and became
delusional, Shri Rama got hold of his brother Bharata and hugged him. Shri Ram enlapped
Bharata, the jewel of Raghukula, and asked him with great affection - ‘Dear brother! Why
have you come to the forest? Maharaja 1s alive, isn’'t he? Or did he become extremely sad and
suddenly left for the heavenly abode, and that is why you had to come here? Brother, you are
still a child, I hope that your kingdom has not been destroyed? Is Mother Kausalya fine? Is
Mother Sumitra, who has borne the best children, happy? And what about the noble Kaikeyi
Devi? O brother, do you honour the Devas, ancestors, servants, gurus, elders — who are as

venerable as our father, doctors and Brahmanas?

Do you honour Acharya Sudhanva who is a good scholar of politics and who knows how to use
the finest arrows without Mantras and the best arms with Mantras? Brother, have you
appointed only those as ministers who are as brave, scholarly, in control of their senses,

noble, and able to understand the mind with external efforts, as you are?

Raghunandana! Sound advice is the principal reason underlying a king’s victory. Such advice
bears fruit only when the Prime Minister, who is the crest jewel of the Cabinet, and an expert
in strategy and policy-making, keeps such advice top secret. Do you contemplate on complex
problems all by yourself? Or do you discuss such matters with too many people? Or is it that
your secret decisions get leaked to enemy states? Do you prefer a single intelligent expert over
thousands of foolish advisors, For it is only an intelligent and expert advisor who can provide
deliverance in times of acute economic crisis. Do you provide sufficient allowance for your
soldiers on a timely basis? Bharata! Have you appointed ambassadors who are natives of our
own country, scholars, skillful, talented, can communicate exactly to others as directed, and
who can differentiate between the real and the unreal? Do you avoid harming Dharma by
Artha and Artha by Dharma? Do you allocate your time suitably for purposes of Dharma,
Artha and Kama?
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As per Sri Rama a king should do which of the following?

(1) Should not explore a complex problem just by himself.

(2) Should not discuss a complex problem with a large number of people.
(3) Confidential discussions should not reach the enemsy.

(4) All of the above.
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